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Question Number : 1 Question Id : 5406266634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TP, VN, XL, ZJ, ?
Options :

1. ¥ BH

2. % BI

3. % CH

4. % CI

Question Number : 1 Question Id : 5406266634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau U fasedt & O o 9e! fawed gg, S 3 gehH &l 1 &R

TP, VN, XL, ZJ, ?
Options :

1. ¥ BH

2. % BI

3. % CH

4. = CI

Question Number : 2 Question Id : 5406266635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TRF, XNJ, BIN, ?, JBV
Options :
1. * EFR
2. ¥ FFR
3. * FES
4. % EER

Question Number : 2 Question Id : 5406266635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U ue g 21 fau T faswed & ¥ 98 el fawed g, St 3igehd o T |

TRF, XNJ, BIN, ?, JBV
Options :
1. * EFR
2. ¥ FFR
3. ®* FES



4. * EER

Question Number : 3 Question Id : 5406266636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MRPN, TZYX, AHHH, HPQR, ?
Options :

1. * OYZB

2. ¥ OXZB

3. * OYAB

4. % OWZB

Question Number : 3 Question Id : 5406266636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § 0o Ue g 8| fau 7Y fased & O o 9e! faded gg, S 3 gehH & 1 &R

MRPN, TZYX, AHHH, HPQR, ?
Options :

1. * OYZB

2. ¥ OXZB

3. * OYAB

4. % OWZB

Question Number : 4 Question Id : 5406266637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

P23G, Y37L, H25Q, ?, Z27A
Options :



1. ¥ R4OV
2. % Q39U
3. ¢ Q39V
4. % R40U

Question Number : 4 Question Id : 5406266637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g B | Fw T et A & o8 U8 Reed g, S g B R AR

P23G, Y37L, H25Q, ?, Z27A
Options :

1. # R40V

2. % Q39U

3. ¥ Q39V

4. % R40U

Question Number : 5 Question Id : 5406266638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Doctor

2. % Restaurant

3. ®* Hospital

4. % School

Question Number : 5 Question Id : 5406266638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad vy # it 7T fowedl & § faud Trsg &1 9T

Options :



1. ¢ RIfba®
2. % oI
3. % 3Wdrd
4. % fagrey

Question Number : 6 Question Id : 5406266639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. # Pitch — Cricket

2. % Rink — Skating

3. ¥ Boxing — Ring

4. % Track — Race

Question Number : 6 Question Id : 5406266639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy # i e fowedl 7 9 fawd 2rsg g™ &1 9T
Options :

1. % fUg — fbpe

2. % b — WhicT

3. it -

4. % 3H 9

Question Number : 7 Question Id : 5406266640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :
1. # GRF -JVK



2. % HVX - BZL
3. % MLA — EPQ
4.+ TBU - XFX

Question Number : 7 Question Id : 5406266640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR feumu Uy §, IR 3eR g feu M B () & afY 3R ol T 31eR () F ol SR a8 M 3rer ¥ fardt b/ MawiEy @ Tefia g1 diF
I TH qh/Mar/AEY & YR IR 99 & | 3T T8 fawen & ¥ fawd &1 gfu|

Options :

1. % GRF - JVK

2. % HVX -BZL

3. ¥ MLA - EPQ

4. ¥ TBU - XFX

Question Number : 8 Question Id : 5406266641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % FRIP - IOLM
2. % ANPG - DKSD
3. ¥ KLMA — NIPW
4. % LTVX -0QYU

Question Number : 8 Question Id : 5406266641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fermuuy & IR ser gm AT M §1 (1) & Tt 3R fod T 1eR () B Tt SR a0 T 31eR I fopdt b fam ey @ Gefaa g1 =
I TH qh/Maa/AEY & YR IR 99 & | 3T U fawen & ¥ fawd &1 g

Options :



1. ® FRIP - IOLM

2. % ANPG - DKSD
3. ¥ KLMA — NIPW
4. % LTVX - OQYU

Question Number : 9 Question Id : 5406266642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Chess : Indoor :: Cricket : ?
Options :

1. ¥ Outdoor

2. % Pitch

3. #* Wicket

4. % Player

Question Number : 9 Question Id : 5406266642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o fau e fawed & ¥ Yefia wsg! &1 gt

o\

ARl : 38R :: fhope : 2
Options :

1. ¢ 33TER

2. % fUg

3. % [ddbe

4. % fgarst

Question Number : 10 Question Id : 5406266643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(FM, JI, NE)
Options :

1. ¥ (AS, EO, IK)
2. % (PE, TB, XW)
3. % (KP, OL, RH)
4. % (SC, WY, ZU)

Question Number : 10 Question Id : 5406266643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), s1erl &1 Ue Wig fear T 8 | Ul g & 31&R I THE & 3HeRl & a1y forg adh/Mam iy ¥ defia §1 e e
fasmedl & I 31eRT B U g D! gMHT ol THM dob/aH/AY BT IR0 S 81|

(FM, JI, NE)
Options :

1. ¥ (AS, EO, IK)
2. % (PE, TB, XW)
3. % (KP, OL, RH)
4. % (SC, WY, ZU)

Question Number : 11 Question Id : 5406266644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

FRAR : XGXL :: ?
Options :

1. # MANG : LTGS
2. % RFID : JPLX
3. % DAPN : TVGIJ



4. % GHRK : QXNL

Question Number : 11 Question Id : 5406266644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad uy o fau e fawed! & O defia sieR g o1 gl

FRAR : XGXL :: ?
Options :

1. ¥ MANG : LTGS
2. % RFID : JPLX
3. ¥ DAPN : TVGIJ
4. ¥ GHRK : QXNL

Question Number : 12 Question Id : 5406266645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

MONI : NRRO :: ?
Options :

1. # GRAM : REVI
2. ¥ TVBX : CFYV
3. % LRPY : DVRN
4. ¥ MANP : URDN

Question Number : 12 Question Id : 5406266645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ fau e fawed! & O d6fid sieR g &1 gfHu|

MONI : NRRO :: ?
Options :



1. * GRAM : REVI
2. ¥ TVBX : CFYV
3. ¥ LRPY : DVRN
4. % MANP : URDN

Question Number : 13 Question Id : 5406266646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MOIST’ is written as ‘RTNXY’. What is the code for ‘GREAM’ in that code language?
Options :

1. # LWJER

2. ¥ LWIJFR

3. % LVJER

4. % LVJFR

Question Number : 13 Question Id : 5406266646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Ble YW H, ‘MOIST’ 1 ‘RTNXY eIl STl ¢ | §9 IS W H ‘GREAM® &1 H1S HT 52
Options :

1. % LWIJER

2. ¥ LWIJFR

3. ¥ LVIJER

4. % LVJFR

Question Number : 14 Question Id : 5406266647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PAN’ is written as ‘31°, ‘MOL’ is written as ‘40’. What is the code for ‘PIG’ in that code language?
Options :

1. ¥ 32

2. % 34



3. % 31
4. % 33

Question Number : 14 Question Id : 5406266647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Bls UTWI &, “PAN° &1 31° ToRaT ST 8, *MOL B *40° T STl 81 $9 HIS U H *PIG” FT HIS T 62
Options :

1. ¥ 32

2. % 34

3. % 31

4. % 33

Question Number : 15 Question Id : 5406266648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MY STA’ is written as ‘ZGHBN’. What is the code for ‘GRAPE’ in that code language?
Options :

1. ® VKZTI

2. % VZKIT

3. % VZKTI

4. ¥ VKZIT

Question Number : 15 Question Id : 5406266648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fAfR BIS YW &, ‘MYSTA’ 1 ZGHBN’ {1 SITd1 8| 39 HIS HIWT H ‘GRAPE’ &1 IS T 57
Options :

1. ® VKZTI

2. * VZKIT

3. % VZKTI



4. ¢ VKZIT

Question Number : 16 Question Id : 5406266649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PINERAMT’ is written as “TRRVVZQG’. What is the code for ‘GRANMIST’ in that code language?
Options :

1. ¥ KIEMQRWG

2. % KIEMQSWG

3. ¥ KIENQRWG

4. % KIFMQRWG

Question Number : 16 Question Id : 5406266649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fARP IS U H, ‘PINERAMT’ &) “TRRVVZQG’ forRaT SITdT 8 1 39 IS HIST & ‘GRANMIST’ &1 HIS FIT 82
Options :

1. ¥ KIEMQRWG

2. ® KIEMQSWG

3. # KIENQRWG

4. % KIFMQRWG

Question Number : 17 Question Id : 5406266650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FRAUDSTR’ is written as ‘KALKNHKM’. What is the code for ‘TYRERING’ in that code language?
Options :

1. % ZUBYYYRA

2. % ZVBXXYRA

3. ¥ ZVCYXYRA

4. ¥ ZUBYXYRA



Question Number : 17 Question Id : 5406266650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AP HIs UM &, ‘FRAUDSTR® &1 ‘KALKNHKM® foraT ST 81 39 I8 HINT & “TYRERING’ BT DS T 82
Options :

1. * ZUBYYYRA

2. % ZVBXXYRA

3. % ZVCYXYRA

4. ¥ ZUBYXYRA

Question Number : 18 Question Id : 5406266651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five books P, Q, R, S and T are kept on above the other. Three books are kept between R and S. P is kept above T and below Q. If no book is
kept above R, then which book is kept just above Q?

Options :
1.¥R
2.% P
3. T
4. % S

Question Number : 18 Question Id : 5406266651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui Q& P, Q, R, S TUT T TH & &R U XTI T § | R TUT S & T o9 Geadh @ TN § 1 P I T & S AU Q & - I T g1 AfE R
F SR PE M g T A TR, & Q F P SR B I qes I T 2
Options :
1.¥R
2. % p
3.8 T
4.% S



Question Number : 19 Question Id : 5406266652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 boys A, B, C, D, E and F are sitting in a row facing towards south (not necessarily in the same order). E is second to the left of B. C is the
immediate neighbour of E. A is fourth to the right of C. If F is the immediate neighbour of B and D, then which of the following statement is not
correct?

I. D is second to the right of B.
II. Only B is sitting between C and D.

Options :

1. % Only I

2.% Only II

3. % BothIand Il
4. % Neither I nor II

Question Number : 19 Question Id : 5406266652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 ASH A, B, C, D, E IUT F U Ufad | Gf&U1 BT 3R T IXb §6 U § (STox] 78] &1 ST A A 81)| E, B P 91T IR GERT | C, E I
fepcar TSR 81 A, ¢ & Srif SR U121 I F, B AT D BT Nbead g g, df FRafifad § 3 &1 91 oy 98t 781 82

I.D, B % G 3R gWRI 5

II. C AYT D & He $Had B 931 g3 g |
Options :

1. % FHadl

2. ¥ HAd I

3. % [ QYT

4. % qIAIATAN

Question Number : 20 Question Id : 5406266653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of 8 persons P1, P2, P3, P4, P5, P6, P7 and P8 is compared. Height of only two persons is less than P6. Height of P4 is more than P6 but
less than P1. Height of P8 and P2 is less than P5 but more than P1. Which of the following sequence of their heights can be correct?



[. P7=P3<P6<P4 <Pl <P8<P2<P5
II. P3<P7<P6 <Pl <P4<P8=P2<P5
III. P7<P3<P6<P4 <Pl <P2=P8<P5

Options :

1. * I, I and III
2. % Il and III
3. % T and III

4. % Only II

Question Number : 20 Question Id : 5406266653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 KT P1, P2, P3, P4, P35, P6, P7 YT P8 BT TS 1 Joi-l 1 T4l g | bl al SHIKTUI 1 Salls P6 W HH g | P4 BT TS P6 I 3D ©
R P1 Y HHAG| P8 TUT P2 BT HdTs PS5 Y HH g R P1 Y D g1 D! GHdls BT HHIRGd H F B AT 3hH el 61 Tl 82

[.P7=P3 <P6<P4 <Pl <P8<P2<P5
II. P3 <P7<P6 <Pl <P4<P8=P2<P5
III. P7 <P3 <P6 <P4 <Pl <P2=P8 <P5

Options :
1. % L ITdUTIII
2. % IIdYTIII
3.9 TdUT I
4. % had 11

Mental Ability2
Group Number : 2
Group Id : 540626193
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 540626272
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Section type : Online
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Number of Questions : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 540626315
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5406266654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If F + G means G is the son F, F — G means G is brother of F, F * G means G 1s daughter of F, F @ G means G is the father of F and F + G means
G is the sister of F, then which of the following statement is correct about A+M * R+ E @ L — C?

I. R is the wife of brother of C.
I1. E is the son of L.
III. A can be the uncle of R.

Options :

1. % IT and III
2. % Only I
3.9 [ Il and III
4. % JTand 11



Question Number : 21 Question Id : 5406266654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG F+GHT NI G, FRIHG, F-GHI MGG FHIUR G, F*GHI GG FHI TG F@QGHI AT GG, FRITUNMGIATF + G BT
AIfRG,FHITETE, WA+~ M*R+E@L - C P I 7 Fuferiad & § oH I w1 I8 82

IR, C % YIS &I Udll 5
ILE LBTYFGI

1. A, R T A 8 bl g
Options :

1. % [[qUT I

2. % HAd I

3. ¢ 1, 11T

4. % [TUTI

Question Number : 22 Question Id : 5406266655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All K are G.
II. Some G are H.

Conclusions:
I. Some H are K.
II. No K is H.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. #* Both conclusion I and II follows

4. # Neither conclusion follows



Question Number : 22 Question Id : 5406266655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (5wt U MU | 3T Tyl &1 9! 4M, 31e 374 AH 1 a2t
Y oz g1t e o oik fsR fReifa & i fou o o1 @ fse, fou 71U wyi & smuR &R gfaasa g

DHY:
L@ K, GRI
IL.$S G HEI

fAh - .
LSS H, K gl
11 ®is K, H TS 8

Options :

1. % $Had [T5HY [ 3FIERU Hdl §
2. % Had (5HY 11 IR0 Hal §
3. % G (ShY [ T 11 SFJAR0T 6’ &
4. ¢ B 1 FIspy SRR TS BRaT§

Question Number : 23 Question Id : 5406266656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. NoXisY.
II. No A is X.

Conclusions:

I. Some Y are not X.
II. Some Y are not A.
III. No X is A.



Options :

1. # Both conclusion II and III follows
2. % Only conclusion II follows

3. % Both conclusion I and III follows

4. % All conclusions follow

Question Number : 23 Question Id : 5406266656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & $8 U 3R 3% 918 31 HUHI IR YN & 56y 3T T4 § | 3T T H=1 & 981 A, 918 S8 Qg 1 a2
3 oz 81t e o ofk fsR fReifa & i fou o o O s, fou e syl & smuR &R gfaaa g

HY:
Lo WX YR8l
11 ®s Ht A, X TS 8

fsp:

LPBY, X T8I gl

ILFDY,ATRI &I

1L &S 4 X, A TS B

Options :

1. % G FShY 11 TUT 111 3IIER0 Hd §
2. % Had (BN 11 IR0 Hal §

3. ¢ G (ISR Y [ T T S8R0 & §
4. % Jft fFrepef S eRUT v §

Question Number : 24 Question Id : 5406266657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:



I. All W are C.
II. All C are L.
III. All J are L.

Conclusions:

I. NoJis W.

II. Some L are J.
III. Some J are C.

Options :

1. # Only conclusion III follows
2. % Only conclusion II follows
3. % All conclusions follow

4. % Neither conclusion follows

Question Number : 24 Question Id : 5406266657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I f3u T Uy H 8 HU 3R IF 918 I HYAI IR ARG & (5py 3T 10 § 1 3T T H2= & 98t am, 3R S8 Qg J1d 9
3 e 811wt fsed ug iR fmR Ruffea &% for o o o1 1 fsed, 3w 7T et & SR R gfaaima €|

hY:

L9t w, c Bl
.9 e, LEI
L g g, L g

fsm:

L &% 01, W Bl
1L.$SL,Ig

L. S J, C gl
Options :

1. % Had (Y (11 TR0 Bl &
2. ¢ Had (BN 11 SR Hal §

3. % gt sy SrERU v 8§

4. % DIz W} FIpY SR T8 R §




Question Number : 25 Question Id : 5406266658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. NoMisF.

II. NoRis A

III. Some A are M.

Conclusions:

I. Some M are not R.
II. Some A are not F.
ITI. Some F are not M.

Options :

1. # Both conclusion II and III follows
2. % Only conclusion I follows

3. % Both conclusion I and III follows

4. % All conclusions follow

Question Number : 25 Question Id : 5406266658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 3D 918 31 Bl R SMUTRT & (b U MU | 3T T FHy=1 &I 91 AM, 91e 379 ATE 1 a2t
I a8 I e U SR iR Freifea &% o 3T e o @ feed, 3T T w2 & 3R R gfaaed g

HY:
1.1 i M, F gl B
1L PIs R, AT RI

L. $& A, Mgl

feem:
. $S M, R TSI 5



I.$S A, Fol gl
L. S F,MTel gl

Options :

1. % QIFI FTSBY 11 T 111 S8R0 & &
2. % Had AHY [ ST BT §

3. % G (SRS [ T 1T STER0T B §
4.« 1} FIsh S SFRRUT Rl §

Question Number : 26 Question Id : 5406266659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

o I
451531 ?
31214

Options :
1.¥97
2. %70
3. % 88
4. % 77

Question Number : 26 Question Id : 5406266659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferiRad oy & fau e fawed! & 9 Uy foreg (7) o RIM IR 3 aTell W= &1 gl

o I
451531 ?
> 124

Options :
1. ¥ 97
2. %70
3. % 88
4, % 77

Question Number : 27 Question Id : 5406266660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

5428 :38:: 7
Options :

1. % 2349 :20
2. % 4373:32
3.9 4927 : 44
4, % 2431:22

Question Number : 27 Question Id : 5406266660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferRad oy & fau e fawedl | O Hafda J=m &1 gl
5428 : 38 :: ?

Options :

1. % 2349 : 20

2. % 4373 :32

3.9 4927 : 44
4. % 2431:22

Question Number : 28 Question Id : 5406266661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

1/2,5/3, 9/4, 13/5,17/6, ?
Options :
1. % 22/7
2.9 21/7
3. % 19/7
4. % 20/7

Question Number : 28 Question Id : 5406266661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & <€t 1S Yae & q g 3f J1d S|

1/2,5/3, 9/4, 13/5, 17/6, ?
Options :
1. % 22/7
2.% 21/7
3. % 19/7
4. % 20/7




Question Number : 29 Question Id : 5406266662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ means ‘+’, ‘B’ means ‘—’, ‘C’ means ‘<’ and ‘D’ means ‘+’,then 84 D21 A4B2C9=7?
Options :

1. %10

2. % 14

3.9¥-10

4. %-14

Question Number : 29 Question Id : 5406266662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A BT+, B BT >, 0 BT o U D BT+ B, A84D21 A4B2C9=2
Options :

1. % 10

2. % 14

3.9¥-10

4. %-14

Question Number : 30 Question Id : 5406266663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many tyres are not white?



White

P

4] 8 (2 11| 16

T

Chair

Tyre

Options :
1. 27
2. % 16
3. % 29
4. % 13

Question Number : 30 Question Id : 5406266663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for e TR Tha T8l 82
B2 L
Z
14| 8 (2 1] 16
/
i 6\
T
Options :

1.9 27



2. % 16
3. %29
4. % 13

Question Number : 31 Question Id : 5406266664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

Wood

\ 9

1 4 12

Bottle

I. Total number of wood are 29.
II. Number of bottles which are only table are 9.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 31 Question Id : 5406266664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAferfad & @ o9 a1 Hy= I8 82



o3
F
\q
1 4 12

. Ao I Hel T 29 B

11. 98 Sidd Sl pad Al g, B B9 B
Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl

4. ® FrATIATA

Question Number : 32 Question Id : 5406266665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is incorrect?

Pen

16

L]
—

9

Book M Rubber




I. Number of rubbers which are neither book nor pen are 9.
II. Number of pen which are book are 23.

Options :

1.¥ Only 1

2. % Only II

3. # Both I and I
4. ® Neither I nor II

Question Number : 32 Question Id : 5406266665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

rfiRad & ¥ S 91 By get e 22

1. 98 39S S T € fpdra § qUT A8l 0 8, B I 9 B
1. 98 U9 ot fopdTa ©, bt T 23 B |

Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % A AT



Question Number : 33 Question Id : 5406266666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

o0 o
?
o

o ©O
o
o

Options :

2. ¥

S| XK][XR

3. %



94

Question Number : 33 Question Id : 5406266666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(1) P ST MR <t eft & aepfoal farelt adh/ Aoy © Sefia 71 3l T fadedl § 9 () & SriY SR THM /Mo ey W srumid
T Pl 1 |

o0 ]
?

Options :

@)
2

2.¢



Question Number : 34 Question Id : 5406266667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
X + @
@ X +
% @ x +
$ # +
# + 8§
, xS+ #




Q%‘:%

3 0 u
30
I

©
©

1

4. <

Question Number : 34 Question Id : 5406266667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad vy o, fau 7 fawed & 9 faww sipfa &1 9w

Options :
X + @
@ X +
L% @ x +
$ # -
# + 8§
, xS+ #
# % #
< < #
3 % % < %




3 0 1
3 0
]

©
©

I

Question Number : 35 Question Id : 5406266668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

@ | |% +| | % © + o=
i @ %
% x| | % $| |$ + © =
Options :
b %
X
| ©
$ =
X
Lol __©
+ —i
X
3. % . @




Question Number : 35 Question Id : 5406266668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad oy o fau e fawedt & 9 vy feg (2) & I WR 3 aTelt 3fidpfd &1 |

@ $||% F|* ©

# @ % 7
%o x| | X 5| |$ +
Options :

S %
L xlr__©

$ —
Lol O

+ —
3. % - ©




Question Number : 36 Question Id : 5406266669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

v | A\
O |
DO 2

Options :

®
®




@
®

Question Number : 36 Question Id : 5406266669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR P UY HA P U= DI IR B2

4. ¢

\%

A\

P

kDA

%

O

Options :

®




®
Q@
®

Question Number : 37 Question Id : 5406266670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?




4. % 16

Question Number : 37 Question Id : 5406266670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1S el H feba Byt 82

Options :
1. % 13
2.¥ 14
3. % 15
4. % 16

Question Number : 38 Question Id : 5406266671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

....... | [(E1E3




Options :

4.9

Question Number : 38 Question Id : 5406266671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & Uy Spfadl § faaTT SUR SIS & HISHR ©a- aul Wi & 914 98 [y IR SH 1A o fa@rs g




Options :

<

OO0

Lo
1. #

<

o ©

<
2. %

<

o <

<
3. %

o

o O

<
4.9

Question Number : 39 Question Id : 5406266672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

X

B
Options :
1. %
2. %




Question Number : 39 Question Id : 5406266672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Th YT BT AB AT TR T ST, & T8 ITR MH Tl T T HiH At 1epfa Uy Sapfa o1 wet ufafed grfte

A

Options :




3. ¢

Question Number : 40 Question Id : 5406266673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

7

Options :




(T
A=

Question Number : 40 Question Id : 5406266673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7TE IR Spiadl § F 39 IR Sl B g fora & uy siiefa kA B

[/

Options :




GD
3.¢
4, ®

General Awareness1

Group Number : 3
Group Id : 540626194
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl
Section Id : 540626273



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626316
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5406266674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bathukamma festival is associated with
Options :

1. # Sikkim

2. ¥ Telangana

3. % Assam

4. * Manipur

Question Number : 41 Question Id : 5406266674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JYFIIIT JIEa gl
Options :

1. % Ryfepa

2. ¢ AT

3. % 3{4H

4. % AR

Question Number : 42 Question Id : 5406266675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nautanki is associated with which state?
Options :

1. ¥ Uttar Pradesh

2. ® Gujarat

3. # Rajasthan

4. ¥ Maharashtra

Question Number : 42 Question Id : 5406266675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BIEARER T R T DR

Options :

1. ¥ IR U

2. % IRId

3. % SR

4. % HERIY

Question Number : 43 Question Id : 5406266676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair(s) of state— dance form is NOT correct?

I. Kerala- Ottan Thullal
II. Haryana - Chhau
III. Madhya Pradesh - Setam

Options :

1. ®* Tand II
2.% Only II
3. % Tand III
4. % Only 1T



Question Number : 43 Question Id : 5406266676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I - 7 et 1 Fafead & § i a1 g I T 82

1. HA- 31 Yeard
11. gRATN - B3,
111 A9 USY - IdH

Options :

1% 13RI
2. ¢ HAd Il
3. % [ 3R I
4. % FHad I

Question Number : 44 Question Id : 5406266677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Losoong/Namsoong is the New Year, which marks the end of harvest season.
Options :

1. % Manipuri

2. % QOdissi

3. % Assamese

4. ¥ Sikkimese

Question Number : 44 Question Id : 5406266677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 4 Y 3, Ol B & HIGH & 3fd BT Udld 5|
Options :

1. ® Aot

2. % IfifSH



3. % 3gHt
4.  Tfapa!

Question Number : 45 Question Id : 5406266678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which sector contribute to the GDP of India?

I. Agriculture sector
II. Service sector
II1. Industrial sector

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. % 1,11 and 111

Question Number : 45 Question Id : 5406266678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & o, €. 0. & {5y &5 ST AN 82

1. P &b
I1. TaT &3
111 3N e

Options :

1. % 1dYT 11

2. % 11 dUTIII
3. % 1dYTIII
4. 1 11 dYT 1T

Question Number : 46 Question Id : 5406266679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The minimum support prices are announced by the Government of India at the beginning of the

I. Sowing season
II. Harvesting season

Options :

1. ¥ Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 46 Question Id : 5406266679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAqH Y I P OV YR IRBR GR] &1 YB3 H BT S B

I. & AIgH
H.%%ﬁﬂﬂ
Options :

1. Had 1

2. % Had Il

3. % [ UGl
4. % FAIATAI

Question Number : 47 Question Id : 5406266680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT true regarding revenue budget?

I. Revenue Budget shows the current receipts of the government and the expenditure that can be met from these receipts.
II. Revenue receipts are receipts of the government which are non-redeemable.

Options :
1. % Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 47 Question Id : 5406266680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o sole & e # FRgferiad # 3 & 91 wy= 98! 781 82

1. IO §olc H WRBR gRT B! a1 WLl SR 3 Wikl § fhd S arel o9 o faaRor &1 g=iia S g |
I1. ITSTeE W TRBR Hi a8 Uil § off IR-Ufdea g |

Options :

1. % had |

2. % Had I

3. % [ qUTII M

4. FA@IATA

Question Number : 48 Question Id : 5406266681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is often taken as a measure of a country’s international competitiveness in international trade.
Options :
1. ¥ Real Exchange Rate
2. # Nominal Effective Exchange Rate
3. % Nominal Exchange Rate
4. # Real Effective Exchange Rate

Question Number : 48 Question Id : 5406266681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT JANT SRR bl Gx1 1 SIRTPTI ATUR H SRS wferedef &1 71y & forg foan s g

Options :



1. ¢ aRdfds fafFmg &R
2. % il gHTa fafFHa @@
3. % gidbldd AFHa R
4. % gRdfde gyE! falmg @@

Question Number : 49 Question Id : 5406266682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In aerobic respiration, glucose breaks down into
Options :

1. ¢ Carbon dioxide, water, energy

2. % Carbon dioxide, alcohol, energy

3. # Water, alcohol, energy

4. ® Carbon dioxide, energy

Question Number : 49 Question Id : 5406266682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JOdT g H, e Afadfsagang
Options :

1. ¢ Bl SRR S, Td, Il

2. % HIa SRS S, UAdIgid, ISl

3. % 9d, UeTobiglal, 3ol

4. % e SRARS, Il

Question Number : 50 Question Id : 5406266683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Spore formation — asexual reproduction
II. Fragmentation — sexual reproduction



Options :

1. ¥ Only I

2. % Only II

3. % T and II Both
4. ¥ Neither I nor II

Question Number : 50 Question Id : 5406266683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Y P T T 98 82

1. Stetmy fAmfor - et o
1. W& - A S
Options :

1. Had 1

2. % HAd I

3. % [ QYT

4. % qIAIATA

Question Number : 51 Question Id : 5406266684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Sliding friction is smaller than static friction.
II. Rolling friction is smaller than sliding friction.

Options :

1. % Only I

2. % Only I

3. % T and II Both
4. ¥ Neither I nor II



Question Number : 51 Question Id : 5406266684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofied A 9 oH I ag 82

1. guf gyur Wige gyor  HA g gl
11. Aefe gvur guf gy 9 HH g |

Options :

1. % PHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % FrAIATA

Question Number : 52 Question Id : 5406266685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. Weight of a body is the product of its mass and the gravitation acceleration.
II. Weight of a body is constant at all places on earth.

Options :

1. ¥ Only I

2. % Only I

3. * T and II Both
4. # Neither I nor II

Question Number : 52 Question Id : 5406266685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffldd I P aT I 32

1. f et 9 o1 YR ST IUT TE@ @Rl & UGS & SRR Bidl g |
1. T 3% P YR &t TR &R ST Wi gial 3|




Options :

1. ¥ Had |
2. % Had Il
3. % [T I gl
4. % FrArIATA

Question Number : 53 Question Id : 5406266686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT correct about image formation by a convex lens?

I. Object at infinity, image real and erect
II. Object at F{, image real and erect

II1. Object at 2F, image virtual and erect
Options :

1. % Tand II

2. % Il and III

3. % Tand III

4, % 1,11 and III

Question Number : 53 Question Id : 5406266686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T o gRT Hifdies & Ha # iR § 3 &F 91 98l 761 82
1. fd 3rd W, ufdfde ardfaes qur dier

11. fid F, R, ufdfdd aredide qur dian

111. fdq 2F, W, ufcfdd syt qur Iaer

Options :

1. % 1dYT 11

2. % 11 dUTIII

3. % 1dYTIII



4.« 1, 11 dYTIII

Question Number : 54 Question Id : 5406266687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the solid crust or the hard top layer of the earth?
Options :

1. # Biosphere

2. % Lithosphere

3. % Hydrosphere

4. ¥ Atmosphere

Question Number : 54 Question Id : 5406266687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T2 B 319 YU 91 HER UL URd B! T Hgd 82
Options :

1. % Sgdsd

2. ¥ RAHSA

3. % SaHsd

4. % qRIHSA

Question Number : 55 Question Id : 5406266688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first tidal energy station was built in
Options :

1. # China

2. % Japan

3. % France

4. % Nepal



Question Number : 55 Question Id : 5406266688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ay P IEI ORI S W= TSl
Options :

1. % dH

2. % U

3. v 1Y

4. % Urd

Question Number : 56 Question Id : 5406266689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a Metamorphic rock.

Options :

1. ¥ Slate

2. # Sandstone

3. % Basalt

4. # Granite

Question Number : 56 Question Id : 5406266689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 pEaRa AR

Options :

1. ¥ ®iC

2. % d3TUNR

3. % Sl

4. % Y13C



Question Number : 57 Question Id : 5406266690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding coniferous forests is/are correct?

I. They are also known as Taiga.
II. They are found in the higher latitudes of northern hemisphere.

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. * Neither I nor II

Question Number : 57 Question Id : 5406266690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad 7 3 o1 91/8 B Tourt a7 & Jad § 98 2/

L. 98 &M & A1 Y Ht 919 9rd B

1. 98 IR Mend & 3= 3fefi=n & U o B
Options :

1. % Had 1

2. % Had Il

3. QYT I gl

4. % GBI

Question Number : 58 Question Id : 5406266691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding the Brahmin Varna is/are correct?

L. It was the first Varna.
II. They were expected to study Vedas, performed sacrifices and received gifts.

Options :



1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 58 Question Id : 5406266691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraferRad § & S a1/ By Se avl & Joy § 98l 3/8?

1. I8 UYH guf |
11, 37T 3(0&HT P TS {h I BT 3T B3, TF B 3R IUBR U B |

Options :

1. % FHadl

2. % Had Il

3. QYT I gl
4. % 1B

Question Number : 59 Question Id : 5406266692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the only king in the history of the world who gave up conquest after winning the war.
Options :
1. ¥ Ashoka
2. # Harshvardhana
3. % Pulakeshin II
4. % Chandragupta

Question Number : 59 Question Id : 5406266692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3%y & 3faera & UHAE o7 & oA g Sita & 91 g 31 81 faar ol




Options :

1. ¢ 3D
2. % gyaYq
3. % QiR gdld

4. % I

Question Number : 60 Question Id : 5406266693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who ruled in Delhi during 1414-1421?
Options :

1. # Ghiyasuddin Balban

2. % Bahlul Lodi

3. % Khizr Khan

4. # Firuz Shah Tughluq

Question Number : 60 Question Id : 5406266693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1414-1421 % SRM feect &1 AS I U1?
Options :

1. % TANGE M Jed

2. % ggard aral

3. ¢ fag @M

4. % ORIV I8 eI

General Awareness2

Group Number : 4
Group Id : 540626195
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 540626274
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626317
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5406266694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Hampi is/are correct?

L. It is located in the Krishna-Tungabhadra basin.
II. It’s architecture was distinctive.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II



Question Number : 61 Question Id : 5406266694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad 7 9 oF I1/8 oy= gvil & Iy H I8l 8/8?

. I8 PN 3R JrTyeT Afeal &t urdt o fRya B
I1. 3P| Il [AlRIY UHR o i |
Options :

1. % Had 1

2. % Had Il

3. ¢ 1AUT I A

4. % I IAIE I

Question Number : 62 Question Id : 5406266695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Samaj was/were established in 18677

I. The Prarthana Samaj
II. The Veda Samaj

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 62 Question Id : 5406266695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I JHNS DT RITAT 1867 T g3 AT



L. T gHTST
1. 9 g

Options :

1.« Had |

2. % Had II

3. % [ QYT
4. % IGIIATRII

Question Number : 63 Question Id : 5406266696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year congress adopted the demand for ‘Purna Swaraj’?
Options :

1. #® 1930

2. %1929

3. % 1932

4. % 1926

Question Number : 63 Question Id : 5406266696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fort oy & SR = gul WRISP St AN &1 WHR fodr 41
Options :

1. % 1930

2.9 1929

3. % 1932

4. % 1926

Question Number : 64 Question Id : 5406266697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are the headquarters of the World Health Organisation situated?



Options :

1. # Paris

2. # Vienna

3. ¥ Geneva

4. ¥ Washington D.C.

Question Number : 64 Question Id : 5406266697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sy TR TireH &1 goTer Sal fUd 82
Options :

1. % OR9

2. % fagm

3. Sl

4. % qIiRfTe Sl

Question Number : 65 Question Id : 5406266698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the first Indian woman to win the Miss World beauty pageant.
Options :
1. # Sushmita Sen
2. # Diana Hayden
3. # Aishwarya Rai
4, ¢ Reita Faria

Question Number : 65 Question Id : 5406266698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 98 <1 Usie Sita- aral ugdl YRdg dfgar |

Options :




1. % gioar o=
2. % ST ge
3. % Ui

4. ¢ 1 BIRAT

Question Number : 66 Question Id : 5406266699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "Beautiful Things: A Memoir"?
Options :

1. ¥ Hunter Biden

2. % Tvanka Trump

3. # Michelle Obama

4. % Hillary Clinton

Question Number : 66 Question Id : 5406266699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EFHd FI: T AHR" T o oRad DI 82
Options :

1. ¢ gR faeA

2. % gl Tl

3. % TORIS SferHT

4. % fgerdt foeied

Question Number : 67 Question Id : 5406266700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been conferred with the 51st Dadasaheb Phalke Award?
Options :

1. ¥ Dev Anand



2. % Rajinikanth
3. ¥ Amitabh Bachan
4. % Rishi Kapoor

Question Number : 67 Question Id : 5406266700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

51 d GIaT ATed Wieh REBR ¥ fhd THTd fovar 7 g2
Options :

1. % 4d 3(g

2. ¢ TSI

3. % SffHAYH o

4. % B DR

Question Number : 68 Question Id : 5406266701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the world’s first Gamified Sanskrit learning App?
Options :

1. ¥ Gyan Guru

2. # Bhasha Guru

3. ¥ Little Guru

4. # Sanskrit Guru

Question Number : 68 Question Id : 5406266701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & yge RIS Gd R 9 W T Am A g?
Options :

I ® JETS

2. % HNTTT®



3. ¢ fafca e
4. % P T>

Question Number : 69 Question Id : 5406266702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which scheme will give a 14-digit identification number to every plot of land in India?
Options :

1. % LANDPIN

2. % LPNO

3. ¥ ULPNO

4. ¥ ULPIN

Question Number : 69 Question Id : 5406266702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P It FISHT HRA & TS YT DI 14 3] DI IgaH T it
Options :

1. % LANDPIN

2. ®* LPNO

3. ¥ ULPNO

4. % ULPIN

Question Number : 70 Question Id : 5406266703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has set the record for the longest stay in space by a woman in February 20207?
Options :

1. # Peggy Whitson

2. % Christina Koch

3. % Kathleen Rubins

4. % Jessica Meir



Question Number : 70 Question Id : 5406266703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TREX! 2020 H U AR gRT SiaRel § Ga¥ dd T T 36 $1 Rebls [ha- a1 672
Options :

1. % Uif fogegm

2. ¢ b HI DI

3. % YA BT

4. % SRYDHTHR

Question Number : 71 Question Id : 5406266704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soil Health Card (SHC) Scheme was launched in which Indian state?
Options :

1. # Bihar

2. % Kerala

3. % Gujarat

4. ¥ Rajasthan

Question Number : 71 Question Id : 5406266704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGl WGBTS (TF. T, 1) Aol fobd HRg Ied H R ol 715 i
Options :

1. % f9gR

2. % Hd

3. % oRId

4, ¢ XoRY[H




Question Number : 72 Question Id : 5406266705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state of India has celebrated its 35th Statehood day on 20 February 2021?
Options :

1. # Maharashtra

2. # Gujarat

3. % Arunachal Pradesh

4, % Assam

Question Number : 72 Question Id : 5406266705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd & FRgferiad & @ fog Isg 3 20 WAt 2021 B 30T 35 af ey feaq {4/ g2
Options :

1. % HERTY

2. % ORI

3. ¢ JBUME U™

4. % 3y

Question Number : 73 Question Id : 5406266706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following writ(s) is/are mentioned in the Indian constitution?

I. Habeas corpus
II. Certiovari

Options :

1. % Only I

2. % Only I

3. % Both Iand II
4. ¥ Neither I nor II



Question Number : 73 Question Id : 5406266706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered # 4 &9 9 Re/Rel o1 auiq yRd a5 g/82

1. gt gaefiamxun
1. ST

Options :

1. ¥ Had |

2. % Had Il

3. % [T I gl
4. % I

Question Number : 74 Question Id : 5406266707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which schedule of the Indian constitution deals with the states?
Options :

1. ¥ First

2. % Second

3. # Third

4. * Fourth

Question Number : 74 Question Id : 5406266707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ifae Bt 14 It el o7 ¥ Teifda 82
Options :

1. ¢ Ugail

2. % gl

3. % dil



4. % Trft

Question Number : 75 Question Id : 5406266708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with procedure of impeachment of the President?
Options :

1. * 55

2. % 58

3. %59

4.9 61

Question Number : 75 Question Id : 5406266708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T BT I AT Sifwsa AP TR HRIHAN Ia i UfehaT ¥ Teifdd g2
Options :

1. % 55

2. % 58

3. % 59

4.+ 61

Question Number : 76 Question Id : 5406266709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding Emergency is/are correct?

I. Article 352 of the Indian constitution deals with Proclamation of Emergency.
II. Article 353 of the Indian constitution deals with effect of proclamation of Emergency.

Options :
1. * Only I
2. % Only I



3. % Both I and II
4. % Neither I nor II

Question Number : 76 Question Id : 5406266709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafRed & Q &1 98 Sy 31U & Yy § 981 8/8?

. YR Hfaem™ &1 3fJedg 352 3MUTd St IGUINUN 9§ Hafed g
1. HRTHT T PT 3w 353 SMTUTd &1 STV & YHTE § Faifdd 7

Options :

1. % Had 1

2. % Had I

3. ¢ 1 AU Gl
4. % GBI

Question Number : 77 Question Id : 5406266710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which city hosted the 2018 Commonwealth Games?
Options :

1. # Glasgow

2. ¥ Gold Coast

3. % Sydney

4. # Johannesburg

Question Number : 77 Question Id : 5406266710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2018 AFHSH Wail b1 HofaTHii fobd T 7 bt &2

Options :

1. % TAREN




2. ¢ TS BHIRE
3. % fJe-t
4. % SgFge

Question Number : 78 Question Id : 5406266711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many silver medals did Indian won in 2016 Summer Olympics?
Options :

1. %2

2.%0

3.% 3

4. 1

Question Number : 78 Question Id : 5406266711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2016 & FSHBTAM 3feites H HRGR = fobd- Ioid UG wild A2
Options :

1. %2

2.%0

3.%3

4. ¢ 1

Question Number : 79 Question Id : 5406266712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state hosted the FIH Men’s World Cup 2018?
Options :

1. # Jharkhand

2. # Andhra Pradesh

3. % Tamil Nadu



4. % (Qdisha

Question Number : 79 Question Id : 5406266712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore YR o9 A T, 3118, T9. T8N fay &9 2018 HI Aot o1 2
Options :

1. ® SRES

2. % 3fiY U

3. % qiAeg

4. 3NN

Question Number : 80 Question Id : 5406266713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Udanta Singh is associated with which sport?
Options :

1. ¥ Football

2. % Hockey

3. % Tennis

4. % Table Tennis

Question Number : 80 Question Id : 5406266713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST g frw ot § awifira 72
Options :

1. ¢ Pedld

2. % globl

3. % 29

4. % Cqd g



Arithmetic Abilityl

Group Number : 5

Group Id : 540626196
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetical and Numerical ability1

Section Id : 540626275
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626318
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5406266714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of (V0.36 + 10.25) x V0.01?
Options :



1. % 100/11
2.9 11/100
3.% 1
4, % 2

Question Number : 81 Question Id : 5406266714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0.36 +70.25) x ~0.01 BT HF T 82
Options :

1. % 100/11

2.9 11/100

3. % 1

4, % 2

Question Number : 82 Question Id : 5406266715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If le +4/115+ /2008 + K =5, then what is the value of K?
Options :
1. ¥ 908
2. % 198
3. % 100
4. % 200

Question Number : 82 Question Id : 5406266715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 12+ 115+ V2008 + K =5 ©, al K &1 {1 &1 7




Options :
1. ¥ 908
2. % 198
3. % 100
4. % 200

Question Number : 83 Question Id : 5406266716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the set of first 100 natural numbers, all the multiples of 3 are removed. What is the sum of the remaining numbers?
Options :

1. % 4263

2. ¥ 3367

3. % 736

4. % 942

Question Number : 83 Question Id : 5406266716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgat 100 Ui st & Je 4, Tt 3 & Jorel &I ger foar o g | W it Semsii &1 3 &1 g2
Options :

1. % 4263

2. ¥ 3367

3. % 736

4. % 942

Question Number : 84 Question Id : 5406266717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2 2 4 5 T 4

What is the valie of 11 3 5 11 22 219
6 21 5 8 2 6
o 3 W e i .
T 22 4 5§55 3 11

Options :

1. % 23/21

2. % 29/23

3. % 31/21

4. % 33/23

Question Number : 84 Question Id : 5406266717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2.4 .5 7
5

11737511 22 21 BT HF AL

6 21 5 B 2 6
b 3 b

Options :

1. ¥ 23/21
2. % 29/23
3. % 31/21
4. % 33/23

Question Number : 85 Question Id : 5406266718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of two players P and Q of a football team is 38 kg. The average weight of P, Q and their coach R is 49 kg. What is the weight
of coach?

Options :

1. ¥ 71 kg
2. % 69 kg
3. % 67kg



4. = 75kg

Question Number : 85 Question Id : 5406266718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Peald SHH & al RAATS! P T Q BT 3Md HR 38 fb.I1. 51 P, Q AT I URI& R T SIRId HR 49 b 1. B 1 UIRIafeh BT HR 1 &2
Options :

1. v 71 fb AT,

2. % 69 b3,

3. % 67 AT

4. % 75 fb A1,

Question Number : 86 Question Id : 5406266719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements(s) is/are correct?

I. The average of 21 numbers is 19. If the average of first 7 numbers is 16, then average of remaining numbers will be 19.
I1. Average of 145, 219, 516, 283 and 247 is 282.

Options :

1. * Only I

2.9 Only II

3. #* Both I and II
4. *= Neither I nor II

Question Number : 86 Question Id : 5406266719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol 7 9 oF 91/3 o= I8 8782

1. 21 STl T 3N 19 B 1 S UUH 7 T-ATSH BT 3 16 7, ) AN A3 BT 3 19 T
11. 145, 219, 516, 283 YT 247 BT 3Nd 282
Options :



1. % PHadl
2. ¢ Had Il
3. % [T gl
4. % I IAE I

Question Number : 87 Question Id : 5406266720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is sold at two successive discounts of 10 percent and 20 percent. The selling price of article after second discount is Rs. 1800. If it is sold
only at one discount of 30 percent then what will be the selling price of the article?

Options :

1. ¥ Rs. 1750
2. % Rs. 1680
3. # Rs. 1740
4. # Rs. 1800

Question Number : 87 Question Id : 5406266720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 TTTRId TUT 20 TR &1 & HiE Fel IR Th a¥g &1 991 T 8 | GO BT & 91 a%g DI [ahd Jed 1800 ¥ 7| TfE 39 30 Ufa=rd &t
Had U B TR o1 ST € o) 9% &1 [dehd T T g
Options :

1. ¢ 1750 398
2. % 1680 90U
3. % 1740 309
4. % 1800 3T

Question Number : 88 Question Id : 5406266721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a number P is 10 percent less than another number Q and Q is 25 percent more than 180, then what is the value of P?
Options :



1. * 200.65
2.9 2025
3. % 203.5
4. % 204.5

Question Number : 88 Question Id : 5406266721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tes TX-AT P, 310 T-AT Q ¥ 10 UfAd HH g 3R Q, 180 T 25 Ufawrd 3ifde g, dl p T HHF 182
Options :

1. * 200.65

2.9 202.5

3. % 203.5

4. % 204.5

Question Number : 89 Question Id : 5406266722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A’s income is 125 percent of B’s income and A’s expenditure is 60 percent of B’s expenditure. If B saves 30 percent of his income, then how
much percentage does A save of his own income?

Options :

1. # 40.8 percent
2. % 48.2 percent
3. % 52.6 percent
4. ¥ 66.4 percent

Question Number : 89 Question Id : 5406266722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A P 3T B B AT DI 125 IR € TUT A BT I B & T 1 60 U= g1 TG B 3T ST BT 30 UFA=Id ST 6, 1 A 3T Gg Pt
31T 1 a1 wfa=rd s 82

Options :



1. ® 40.8 gfa=rd
2. % 482 yfa=rd
3. % 526 Ufawd
4. ¥ 66.4 9fa=Id

Question Number : 90 Question Id : 5406266723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, 45 percent of the total employees are female. 30 percent of the female employees are married and 90 percent of the male employees
are married. Unmarried employees are what percentage of the total employees in office?

Options :

1. % 37 percent
2. % 43 percent
3. % 33 percent
4. % 35 percent

Question Number : 90 Question Id : 5406266723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HIAT B, $d HHATRG! BT 45 AT AR 1 30 Ufawrd Afee wH=r faarfed 8 aut 9o ufawrd g3y s faarfed g1 srafag
o 3ffgaried HHAR! Fd HHATRG! & fba- Ufa=d 82

Options :

1. ¢ 37 gfard

2. % 43 gfa=rd

3. % 33 gfa=rd

4. % 35 gfa=rd

Question Number : 91 Question Id : 5406266724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suresh gives 25 percent of a amount to his wife, 45 percent to his daughter and 20 percent of the remaining part to his son. If Suresh is left with
Rs. 4800, then how much amount did Suresh have in the beginning?



Options :

1. #* Rs. 10000
2. ¥ Rs. 20000
3. % Rs. 25000
4. % Rs. 40000

Question Number : 91 Question Id : 5406266724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G TS YRIRT BT 25 UTAIA U=t Ut Y, 45 Tl S0+ Gt bl T 5= §T T 7 20 U= 309 G 1 2 a1 8 | afe R & Uy
4800 ¥UY T €, I URY T T & U fopat e=RIfy ot

Options :

1. % 10000 3T
2. ¥ 20000 3T
3. % 25000 30
4. % 40000 T

Question Number : 92 Question Id : 5406266725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A table is bought for Rs. 800 and is sold at 40 percent loss. What is the selling price of the table?
Options :

1. % Rs. 520

2. % Rs. 440

3. ¥ Rs. 480

4. % Rs. 500

Question Number : 92 Question Id : 5406266725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSl &1 800 TUY | WG] ST § 4T 40 IR 1 g1 TR ST ST § | 7Sl 1 fasha Hed o1 82

Options :



1. % 520300
2. % 440 309
3. ¢ 480 3T
4. % 500 39U

Question Number : 93 Question Id : 5406266726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of an article is Rs. 9500. If the loss percentage is 22 percent, then what is the selling price of the article?
Options :

1. % Rs. 7500

2. % Rs. 7410

3. ¥ Rs. 7520

4. % Rs. 7280

Question Number : 93 Question Id : 5406266726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I BT T T 9500 0T g | TS g1 vfrera 22 wfawrd 3, @ avq &1 faswa geg w1 32
Options :

1. ® 7500 $9Y

2. 7410 39T

3. % 7520 3090

4. % 7280 30

Question Number : 94 Question Id : 5406266727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram bought two shirts for Rs. 2624. He sold one at a loss of 20 percent and other at a profit of 25 percent. If each shirt was sold for the same
price, then what is the cost price of the shirt which was sold at loss?

Options :



1. #* Rs. 2000
2. % Rs. 1200
3. ¥ Rs. 1600
4. * Rs. 1800

Question Number : 94 Question Id : 5406266727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R A 2624 T0Y H &Y DI WRIGH G Th Bl 20 UlTRId B BT TR qUT GO Dl 25 U= &b Y TR o011 Al YA HHIT Bl 9HH
Ted TR o491 7T T, 1 BT UR o<t Tt il &1 o o ol /2

Options :

1. % 2000 30
2. % 1200 39T
3. ¥ 1600 TYY
4. % 1800 3T

Question Number : 95 Question Id : 5406266728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two numbers is 5 : 6. If the sum of both the numbers is 220, then what is the smaller number among both the numbers?
Options :

1. #® 120

2.9 100

3. % 140

4. % 160

Question Number : 95 Question Id : 5406266728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&I RT3t T ST 5 : 6 S 1 A ST TReATaN BT AT 220 &, T S TReaTaft 7 ¥ BIC Team o1 82

Options :



1. % 120
2. 4100
3. % 140
4. % 160

Question Number : 96 Question Id : 5406266729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 24600 is divided among E, F and G. E’s share and F’s share are in the ratio of 2 : 5 and F’s share and G’s share are in the ratio of 3 : 4. How
much amount will F receive?

Options :

1. # Rs. 3600
2. % Rs. 12000
3. ¥ Rs. 9000
4. % Rs. 15000

Question Number : 96 Question Id : 5406266729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24600 T BT E, F AU G & Ui frar T g | EdT iR duT F w1 fein 22 5 % SIuId H g SR F bl R auT G S g3 : 4 %
3UTd H 81 F & forait iR et

Options :

1. ® 3600 $YY
2. % 12000 3T
3. ¢ 9000 $GY
4. % 15000 304

Question Number : 97 Question Id : 5406266730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 75 litres mixture the ratio of alcohol and water is 2 : 3 respectively. 25 litres of mixture is taken out and replaced with 25 litres of water.
What is the new ratio of alcohol and water respectively?



Options :
1. % 11:4
2.¥4:11
3.%4:9
4. % 5:11

Question Number : 97 Question Id : 5406266730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 e & TP TR0 & Tehlgd auT O BT SUTd SHHRT: 2 : 3 51 25 Wiex fHsi0r &I farat forn Srdn g qu 25 cfier ot S1d fear S g |
U Teb g adl Ul &1 74T 3UTd 31 87

Options :

1. % 11:4

2.9 4:11

3.%4:9

4, % 5:11

Question Number : 98 Question Id : 5406266731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three cups contain mixture of milk and water in ratio 13 : 12, 9 : 14, 2 : 1 respectively. 25 liters of first and 23 liters of second cup are taken.
How much quantity from third cup is to be taken so that final mixture from the three cups will have milk and water in ratio 1 : 1?

Options :

1. % 6 litres
2. ¥ 12 litres
3. % 18 litres
4. % 3 litres

Question Number : 98 Question Id : 5406266731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fF U & g R T o 0T BT ST SHHRT: 13: 12,9 14,2 : 1 81 TS HU 25 WX T GO HY I 23 e o ord g 1 st Hu




I o=t A3 ol =g o ol sl 9§ Sifas fiyor O go auT Uil &7 3UTd 1 : 1 81 §Ty?
Options :

1. % 6 TR

2. ¢ 12WIR

3. % 187X

4, % 37X

Question Number : 99 Question Id : 5406266732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the rate of simple interest at which a sum of money becomes three times of itself in 38 years?
Options :

1. # 6.28 percent

2. % 4.87 percent

3. % 5.85 percent

4. ¥ 5.26 percent

Question Number : 99 Question Id : 5406266732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST D1 &R fohel § Ford IR dis 4=RIRT 38 a8 H W98 &t Tt g1 ol 82
Options :

1. % 6.28 Ufd=rd

2. % 487 Yld=rd

3. % 5.85 yfaerd

4. ¥ 526 Ufd=rd

Question Number : 100 Question Id : 5406266733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes 1.44 times of itself in 2 years when invested at compound interest (compounded annually). What is the rate of interest per
annum?



Options :

1. # 30 percent
2. % 25 percent
3. ¥ 20 percent
4. % 21 percent

Question Number : 100 Question Id : 5406266733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T M Ahgfa STl (@Mfiies o) IR A% A TR 2 a6 7 T8 &7 1.44 AT 81 ST & | SATS 1 1ffes ox Fam 82

Options :

1. % 30 fd=rd
2. % 25 gfd=rd
3. ¢ 20 UfcRId
4. % 21 gid=rd
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Question Number : 101 Question Id : 5406266734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the compound interest (annual compounding) and simple interest on a sum at the rate of 10 percent per annum for 2 years
is Rs. 360. What is the sum?

Options :

1. * Rs. 42000
2. % Rs. 36000
3. * Rs. 30000
4. * Rs. 32000

Question Number : 101 Question Id : 5406266734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR W 10 U= Bt AMF &R T 2 T & Ashgfeg ST (A1 JTTST) TUT FURYT ST o HeF DT 3feR 360 TUU g | AR AT 82
Options :

1. % 42000 30

2. ¢ 36000 3T

3. % 30000 ST
4. % 32000 3UY



Question Number : 102 Question Id : 5406266735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If interest being compounded half yearly and rate of interest being 30 percent per annum, then in how much time Rs. 20000 will become Rs.
30417.5 at compound interest?

Options :

1. # 24 months
2. % 6 months
3. # 12 months
4. ¥ 18 months

Question Number : 102 Question Id : 5406266735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 1ot SrefaTtier AIfoTd fandT ST a7 ST 1 &x Ufd ay 30 UfA=Id g1, df Iehdia oaTSl WR fdva I8 T 20000 39, 30417.5 TG &
SR

Options :

1. % 24 HgH

2. % 6HEH

3. % 12HGH

4. 18 HEH

Question Number : 103 Question Id : 5406266736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A taxi covers a distance of 3420 km in 19 hours. What is its speed?
Options :

1. ¥ 50 metres/seconds

2. # 40 metres/seconds

3. % 45 metres/seconds

4. % 35 metre/seconds



Question Number : 103 Question Id : 5406266736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP R 3420 for 1. B g 19 ° T T B |1 ST 1A a1 B2
Options :

1. ¢ 50 Hicx/AhUg

2. % 40 HICY/HHUS

3. % 45 HICRADBUS

4. % 35 HIc/ABUS

Question Number : 104 Question Id : 5406266737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus starts from a bus stand after every 30 minutes in the same direction. Mohit is moving in opposite direction with a speed of 50 km/hr. If
Mohit meets each bus in 10 minutes, then what is the speed of bus?

Options :

1. % 25 km/hr
2. # 35 km/hr
3. # 40 km/hr
4. #* 30 km/hr

Question Number : 104 Question Id : 5406266737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U §9 99 1S ¥ YIS 30 fire & g fexn & =adt 8 1 \ifed faudid fexn & 50 o w1t /der 1 nfar @ garar g1 afe Mifgd 10 fire # ude
9 9 fredr 8, 4l 59 3 fd | ee

Options :

1.+ 25 foo ot eie
2. % 35 fo ot der
3. % 40 fo Y der
4. % 30 foo ot eieT



Question Number : 105 Question Id : 5406266738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can cross a platform of length 610 meter in 50 seconds and it can cross a 450 meter long platform in 42 seconds. Which of the following
statements is/are correct?

I. Speed of the train is 72 km/hr.
II. Length of the train is 450 meters.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 105 Question Id : 5406266738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT 610 HeR TS dTd WehIH Bl 50 YHUS H UR HR Jbal g dUT 450 HIeX T WehiH ol 42 YHUS H UR HR Jbd! |
fafeiad 7 @ o I/ Hu= I8l 8/8?

1. YS! 3t T 72 fop HY /dier B
1. YIS} bl owalTs 450 HeX B

Options :

1. ¥ Had I

2. % Had I

3. % [ QUG
4. % I

Question Number : 106 Question Id : 5406266739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 7 men working 7 hours per day for 7 days produces 42 chairs, then how many chairs 14 men will produce working 14 hours per day for 14
days?



Options :
1. ¥ 336
2. % 324
3. % 350
4. % 328

Question Number : 106 Question Id : 5406266739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 7 q&Y 7 f&7 9% ufdfe 7 8¢ S & §U 42 HRIAT a4 7, 4 14 TV 14 fo7 do ufafem 14 €92 wrd vd gu fpa-it HRial =g
Options :

1. ¥ 336

2. % 324

3. % 350

4. % 328

Question Number : 107 Question Id : 5406266740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is thrice as good a workman as B and therefore is able to finish a job in 24 days less than B. In how many days together can they complete the
same work?

Options :

1. * 12 days
2. % 15 days
3. % 11 days
4. ¥ 9 days

Question Number : 107 Question Id : 5406266740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%, B &I a1 H 3 T HRIGRIA ¢ a1 IHCY 98 Th B B ¥ 24 fal o0 T % Tl ¢ | FAaHR 39 B B 9 fova fa=i 8 1 ax Iahdl
¥




Options :

1. % 2feq
2. % 15feT
3. % 11feF
4. ¥ 9feT

Question Number : 108 Question Id : 5406266741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can do a piece of work in 60 days. B and C together can do the work in 40 days. A starts the work and works on it for 16 days
then leaves. Then B takes up, works for 28 days and leaves. Finally C finishes the remaining work is 38 days. In how many days can B complete
the entire work alone?

Options :

1. # 80 days
2. # 75 days
3. % 90 days
4. ¥ 120 days

Question Number : 108 Question Id : 5406266741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUT B FIAHR T B B1 60 fol # A Adhd €1 B TUT C FHAHR I B Bl 40 fol B W AR AHhd &1 A BT 3RY Hll € T 16
fa T BT Ha1 8 fBR I JIa1 8 1 TP 91 B 39 B &1 o Al 8, 28 a1 g o1 vt & auT o Ian Siar 81 3id # ¢ [ »rf &
38 ol I AT 81 B 31hal QR &1 & for a1 H OR1 &R Wbl &7

Options :

1. % gofaa

2. % 7539

3. % 90 faq

4.+ 120 feq

Question Number : 109 Question Id : 5406266742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Working together R and S have to type a book containing 200 pages. R takes 8 hrs to type 64 pages and S takes 10 hrs to type 40 pages. R typed
first 80 pages alone and the last 120 pages were typed by R and S together. How much time will be taken to type the complete book?

Options :

1. * 40 hours
2. % 20 hours
3. % 22 hours
4. % 32 hours

Question Number : 109 Question Id : 5406266742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Y iR T Rd U R TUTS &Y TS 200 UF dTeht Ueh fhdTdl /80 HR1 g | R, 8 B H 64 § TTSU Bl & 9UT S, 10 8 H 40 U§ T84
m—cn%wRﬁuaﬁsoqgﬁaﬁaéqmazﬂ&r@ﬁas1zoquawsmwuﬁW€r§qfa\oaw%|t[ﬁmwaﬁzr{qmﬁﬁ
fop a1 qH foram e

Options :

1. % 409C

2. ¥ 20C

3. % 226C

4, % 32%C

Question Number : 110 Question Id : 5406266743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If total surface area of a cube 1s 384 cmz, then what is the volume of cube?
Options :

1. ¥ 512 cm’

2. % 625 cm’

3. % 343 cm?

4. % 729 cm?



Question Number : 110 Question Id : 5406266743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Tob U &1 ol YIT &bt 384 HHI2 B, 1 U BT 3T T 82
Options :

1. ¢ 51293

2. % 625 QM3

3. % 343943

4. % 720 9713

Question Number : 111 Question Id : 5406266744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid sphere of diameter 5.6 cm is cut into two equal halves. What will be the increase in the total surface area?
Options :

1. ® 37.56 cm?

2. % 42,92 cm?

3. ¥ 49.28 cm?

4. % 54.62 cm?

Question Number : 111 Question Id : 5406266744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5.6 9.1}, SO 910 T 319 TIal I & SRISR I H Hlel a8 | 1l g8 85hd | aar gfg gt

Options :

1. % 37.56 9912
2. % 42922
3. 4928 9.1 2
4. % 54629712

Question Number : 112 Question Id : 5406266745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A metallic sphere is melted and moulded to form conical shaped bullets. If radius of the bullet is five times of its height and radius of bullet is
half of the radius of the metallic sphere, then what is the numbers of bullets formed?

Options :
1. % 120
2.9 160
3. % 190
4. % 150

Question Number : 112 Question Id : 5406266745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YTfeadh Tl &1 FUeeraT 717 § a1 TR Tierdl § GIe 711 § | At Tieh &t st 3! $aTs &i ard 1 § adl Tiiel &1 s
T el &1 oA 1 oneft 3, T SRl TR Thiferal bt e T g

Options :

1. % 120

2. ¥ 160

3. % 190

4. % 150

Question Number : 113 Question Id : 5406266746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of the side of a cube is 9.8 cm. What is the approximate volume of the largest sphere that can be taken out of the cube?
Options :

1. % 396 cm?

2. % 376 cm?

3. ¢ 493 cm’

4. % 503 cm?

Question Number : 113 Question Id : 5406266746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP G- &1 Yol &1 daTg 9.8 T.HT. B 1 &1 T SR FeTal ST e aTel Jad 98 710l T ST TRTHT 31 82
Options :

1. % 396 9.3
2. % 376 Q.3
3. v 493 943
4. % 50393

Question Number : 114 Question Id : 5406266747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of shirts of 5 different colours. The numbers are shown as as percentage of the total number of these
5 shirts.

If the number of shirts of R5 are 475, then what is the number of R1 shirts?
Options :
1. % 528
2. % 440
3. % 660
4. ¥ 550



Question Number : 114 Question Id : 5406266747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e foam mar org fort 5 fafte ST &) ST &1 T &1 <=ia 8 | TReAsh &1 39 5 W1 St U B Hdl G- & UIA=Id & =0 B q=1ia T

I

g RS B UCH DI VAT 475 8, A R1 BT CH B U T 62
Options :
1. # 528
2. % 440
3. % 660
4. % 550

Question Number : 115 Question Id : 5406266748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie chart given below shows the number of packets of 6 different types of noodles sold by a shop in a year.



What is the sum of the central angles made by N3 and N5?
Options :

1. # 122.4 degrees

2. % 108 degrees

3. % 115.2 degrees

4. % 104.4 degrees

Question Number : 115 Question Id : 5406266748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e foam mar ur fot U g gR1 U a8 | 6 fafid TR &1 T80 & o U Udhe! o el &l ST |




N3 TUT N5 GRT §TE T B HI0T BT Hdl TN 1 g2
Options :

1. % 1224

2. % 108 &

3. ¢ 1152 &t

4. % 104.4 f&tht

Question Number : 116 Question Id : 5406266749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of shoes and bags sold by a shop in 5 consecutive months.

Month Shoes Bags
M1 108 35
M2 92 45
M3 | 55 | 30
4 70 55
M35 80 15

Which of the following is the correct relation of the average number of shoes sold per month (S) and the average number of bags sold per month
(B)?

Options :

1. % 55=11B
2. ¥ 4S=9B
3. % 35=28B
4. ® 2S=7B

Question Number : 116 Question Id : 5406266749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fa fe Tt aTfoienT U g GRT 5 SHHRTA HelH! & ol T S[d 9T o7 1 ST &1 GRIfdl & |

wer | S |
M1 108 33
M2 92 45
M3 55 30
M4 70 55
M35 80 15

i {18 o 7Y Sl &1 ST WA (S) T Wifd HTE od 7T o b Siigd ST (B) ST Fafafad # 9 i A1 Jae 98! 82

Options :

1. # 58=1IB
2. ¥ 4S=9B
3. % 35=8B
4. % 2S=7B

Question Number : 117 Question Id : 5406266750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows the number of guns sold in a country in 6 consecutive years.



620 600 630

b

Number of guns sold

Y1 Y2 Y3 Y4 Y5 Y6
Years

What is the total number of guns sold in these 6 years together?
Options :
1. % 3400
2. % 3500
3. % 3450
4. % 3350

Question Number : 117 Question Id : 5406266750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feam o X o U <=1 H 6 ST ani | S TR Sgah! a1 e Bl a=han g |
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Options :
1. ¥ 3400
2. % 3500
3. % 3450
4. % 3350

Question Number : 118 Question Id : 5406266751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given shows the number of mobile phones imported (in 000’s) in a country in 5 consecutive years.



360

280 =
250 —

210

Number of mobile phones imported
(in 0007s)
J

Yl Y2 Y3 Y4 Y5

Years

What is the average number of mobile phones imported in the country per year?
Options :

1. ¥ 284000

2. % 236000

3. % 272000

4. % 256000

Question Number : 118 Question Id : 5406266751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 284000

2. % 236000

3. % 272000

4. % 256000

Question Number : 119 Question Id : 5406266752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of bundles (B) and the number of papers per bundle (P) of 5 different colours.



_____________ ... 140 3
* e
12 13 16 21 17

What is the total number of papers of all the colours together?
Options :

1. % 12680

2. ¥ 11740

3. % 12250

4. % 11530

Question Number : 119 Question Id : 5406266752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® 12680
2. ¥ 11740
3. % 12250
4. % 11530

Question Number : 120 Question Id : 5406266753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar chart given below shows the number of runs scored and number of balls played by a player in 5 different innings.
Strike rate = Runs scored/balls played

129
110

il 89 R6
i)
a5 &
1260 56 59 62
I1 12 13 I4 I5

mEuns OBalls

Which of the following statement is correct?
I. The highest strike rate is in inning I4.
II. The lowest strike rate is in inning 13.

Options :

1. % Only I

2. % Only II

3. % Both IandII
4. ¥ Neither I nor II



Question Number : 120 Question Id : 5406266753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General English1

Group Number : 7

Group Id : 540626198
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
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English Language & Comprehensionl

Section Id : 540626277
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626320
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5406266754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My driver or (1)/ my maid are stealing (2)/ from me. (3)/ No error (4)
Options :

1. # My driver or

2. % my maid are stealing

3. % from me.

4. % No error

Question Number : 121 Question Id : 5406266754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My driver or (1)/ my maid are stealing (2)/ from me. (3)/ No error (4)
Options :

1. % My driver or

2. ¥ my maid are stealing

3. # from me.

4. % No error

Question Number : 122 Question Id : 5406266755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Newsmen along with (1)/ the politician is (2)/ coming today. (3)/ No error (4)
Options :

1. % Newsmen along with

2. ¥ the politician is

3. ¥ coming today.

4. % No error

Question Number : 122 Question Id : 5406266755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Newsmen along with (1)/ the politician is (2)/ coming today. (3)/ No error (4)
Options :

1. ¥ Newsmen along with

2. ¥ the politician is

3. # coming today.

4. % No error



Question Number : 123 Question Id : 5406266756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Densely occupied rooms and tightly (1)/ sealed buildings are the main cause for (2)/ high levels of carbon dioxide. (3)/ No error (4)
Options :

1. # Densely occupied rooms and tightly

2. ¥ sealed buildings are the main cause for

3. % high levels of carbon dioxide.

4. % No error

Question Number : 123 Question Id : 5406266756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Densely occupied rooms and tightly (1)/ sealed buildings are the main cause for (2)/ high levels of carbon dioxide. (3)/ No error (4)
Options :

1. * Densely occupied rooms and tightly

2. ¥ sealed buildings are the main cause for

3. * high levels of carbon dioxide.

4. % No error

Question Number : 124 Question Id : 5406266757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Chemicals such as pesticides (1)/ and fungicides harm (2)/ both honey bees and wild native bees. (3)/ No error (4)
Options :

1. * Chemicals such as pesticides



2. % and fungicides harm
3. % both honey bees and wild native bees.
4. ¥ No error

Question Number : 124 Question Id : 5406266757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Chemicals such as pesticides (1)/ and fungicides harm (2)/ both honey bees and wild native bees. (3)/ No error (4)
Options :

1. # Chemicals such as pesticides

2. * and fungicides harm

3. #* both honey bees and wild native bees.

4. % No error

Question Number : 125 Question Id : 5406266758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Probiotics are essential to (1)/ help breakdown food (2)/ in vitamins and amino acids. (3)/ No error (4)
Options :

1. # Probiotics are essential to

2. % help breakdown food

3. % in vitamins and amino acids.

4. ® No error

Question Number : 125 Question Id : 5406266758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Probiotics are essential to (1)/ help breakdown food (2)/ in vitamins and amino acids. (3)/ No error (4)
Options :

1. # Probiotics are essential to

2. % help breakdown food

3. % in vitamins and amino acids.

4. % No error

Question Number : 126 Question Id : 5406266759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

Mr. Davis, (is married) and has three children.
Options :

1. # is marry

2. # is wedding

3. % can marry

4. ¥ No improvement

Question Number : 126 Question Id : 5406266759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

Mr. Davis, (is married) and has three children.
Options :

1. % is marry

2. % is wedding

3. % can marry

4. ¥ No improvement

Question Number : 127 Question Id : 5406266760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

The idea of an apocalypse, (have existed) for thousands of years.
Options :

1. ¥ has existed

2. # have been exist

3. % had exist

4. # No improvement

Question Number : 127 Question Id : 5406266760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

The idea of an apocalypse, (have existed) for thousands of years.
Options :

1. ¥ has existed

2. % have been exist

3. # had exist

4. ¥ No improvement

Question Number : 128 Question Id : 5406266761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

The book in your hand (address the suffering) of the people.
Options :

1. # addressing suffering

2. ¥ addresses the suffering

3. % addressed the suffer

4. % No improvement



Question Number : 128 Question Id : 5406266761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

The book in your hand (address the suffering) of the people.
Options :

1. # addressing suffering

2. ¥ addresses the suffering

3. # addressed the suffer

4. ¥ No improvement

Question Number : 129 Question Id : 5406266762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

Private tuitions (is not allowed) in this building after 8 pm.
Options :

1. % are not allowed

2. # is quite not allowed

3. * may not be allowed

4. % No improvement

Question Number : 129 Question Id : 5406266762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Improve the bracketed part of the sentence. If there is no improvement then select 'no improvement'.

Private tuitions (is not allowed) in this building after 8 pm.
Options :

1. ¥ are not allowed



2. % is quite not allowed
3. % may not be allowed

4. # No improvement

Question Number : 130 Question Id : 5406266763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I am annoyed because you are senseless questions.
Options :

1. # placing

2. % saying

3. # telling

4. ¥ asking

Question Number : 130 Question Id : 5406266763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I am annoyed because you are senseless questions.
Options :

1. # placing

2. ® saying

3. # telling

4. ¥ asking

Question Number : 131 Question Id : 5406266764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



A pandemic or other disaster presents challenges  parents.
Options :

I. ® in

2. % for

3. % with

4. % on

Question Number : 131 Question Id : 5406266764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

A pandemic or other disaster presents challenges  parents.
Options :

1. ®* in

2. % for

3. #* with

4. % on

Question Number : 132 Question Id : 5406266765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Thisis a process and it could be a matter of months before we have any results.
Options :

1. * slower

2. ¥ slow

3. * slowest

4. = slowly

Question Number : 132 Question Id : 5406266765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

This is a process and it could be a matter of months before we have any results.
Options :

1. # slower

2. ¥ slow

3. % slowest

4. % slowly

Question Number : 133 Question Id : 5406266766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I know it seems like getting dressedis  because we are in the house.
Options :

1. ¢ silly

2. % fateful

3. % trepid

4. % iconic

Question Number : 133 Question Id : 5406266766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I know it seems like getting dressedis  because we are in the house.
Options :

1. ¥ silly

2. % fateful

3. # trepid

4. % {conic



Question Number : 134 Question Id : 5406266767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Resolving conflicts is an important for children to learn.
Options :

1. * onus

2. ¥ skill

3. # banter

4. % hurdle

Question Number : 134 Question Id : 5406266767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Resolving conflicts is an important for children to learn.
Options :

1. * onus

2. ¥ skill

3. * banter

4. # hurdle

Question Number : 135 Question Id : 5406266768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Dinosaur is the
P. common name given to
Q. a group of reptiles, often very



R. large, that first appeared roughly
S. 245 million years ago

Options :

1. ¥ PQRS
2. % QRPS
3. ¥ RQPS
4. % PSQR

Question Number : 135 Question Id : 5406266768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Dinosaur is the

P. common name given to

Q. a group of reptiles, often very
R. large, that first appeared roughly
S. 245 million years ago

Options :

1. ¥ PQRS
2. % QRPS
3. # RQPS
4. % PSQR

Question Number : 136 Question Id : 5406266769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Conifers flourish

P. increasingly confined to subtropical
Q. while palms are

R. and tropical regions

S. at high latitudes,

Options :



1. % RQSP
2. ¥ SQPR
3. % QSPR
4. % QPSR

Question Number : 136 Question Id : 5406266769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Conifers flourish

P. increasingly confined to subtropical
Q. while palms are

R. and tropical regions

S. at high latitudes,

Options :

1. ¥ RQSP
2. ¥ SQPR
3. % QSPR
4. % QPSR

Question Number : 137 Question Id : 5406266770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. hibernation is nothing like a regular night’s sleep

Q. in fact, significant physical changes occur within the body during the hibernation period
R. the effect can be so extreme that a hibernating animal may appear dead

S. an animal’s body temperature plunges, and its respiration and heart rate slow dramatically

Options :
1. ¥ PQSR
2. % PQRS



3. % PRSQ
4. % SQPR

Question Number : 137 Question Id : 5406266770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. hibernation is nothing like a regular night’s sleep

Q. in fact, significant physical changes occur within the body during the hibernation period
R. the effect can be so extreme that a hibernating animal may appear dead

S. an animal’s body temperature plunges, and its respiration and heart rate slow dramatically

Options :

1. ¥ PQSR
2. % PQRS
3. % PRSQ
4. % SQPR

Question Number : 138 Question Id : 5406266771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Hustle
Options :
1. ¥ Tug
2. % Trip
3. % Clean

4. % Hurry

Question Number : 138 Question Id : 5406266771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the synonym of the word?

Hustle
Options :
1. ¥ Tug
2. % Trip
3. # Clean
4. % Hurry

Question Number : 139 Question Id : 5406266772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Grapple
Options :

1. # Intend
2. ¥ Grasp
3. # Release
4. # Laugh

Question Number : 139 Question Id : 5406266772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Grapple
Options :

1. # Intend
2. ¥ Grasp
3. # Release
4. # Laugh



Question Number : 140 Question Id : 5406266773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Mirth
Options :

1. # Sarcasm
2. ¥ Glee

3. * Anger
4. % Mistrust

Question Number : 140 Question Id : 5406266773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word?

Mirth
Options :

1. # Sarcasm
2. ¥ Glee

3. * Anger
4. % Mistrust

General English2
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Question Number : 141 Question Id : 5406266774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?

Abound

Options :
1. ¥ Lack
2. * Bless
3. * Rest

4. * Discourage

Question Number : 141 Question Id : 5406266774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word?



Abound

Options :
1. ¥ Lack
2. # Bless
3. % Rest

4. # Discourage

Question Number : 142 Question Id
Orientation : Vertical

: 5406266775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word?

Confederate

Options :

1. ®* Wander
2. # Confuse
3. % Cluster
4. % Disband

Question Number : 142 Question Id
Orientation : Vertical

: 5406266775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word?

Confederate

Options :

1. ¥ Wander
2. % Confuse
3. # Cluster
4. ¥ Disband

Question Number : 143 Question Id

: 5406266776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Gaurantee

2. ® Guarantey

3. % Guarantee

4. # Gauranty

Question Number : 143 Question Id : 5406266776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Gaurantee

2. # Guarantey

3. % Guarantee

4. ¥ Gauranty

Question Number : 144 Question Id : 5406266777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Hadgehogue

2. ¥ Hedgehog

3. % Hadgehog

4. % Hedgehogue

Question Number : 144 Question Id : 5406266777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Hadgehogue

2. ¥ Hedgehog

3. # Hadgehog

4. % Hedgehogue

Question Number : 145 Question Id : 5406266778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Incontrovertable

2. % Introconvertable

3. ¥ Incontrovertible

4. % Incontroveartible

Question Number : 145 Question Id : 5406266778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. #* Incontrovertable

2. % Introconvertable

3. ¢ Incontrovertible

4. % Incontroveartible

Question Number : 146 Question Id : 5406266779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. # Ecentricity
2. % Eccentriccity
3. # Ecentriccity

4. ¥ Eccentricity

Question Number : 146 Question Id : 5406266779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Ecentricity

2. # Eccentriccity

3. % Ecentriccity

4. ¥ Eccentricity

Question Number : 147 Question Id : 5406266780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Acctuality

2. ¥ Actuality

3. # Actuallity

4. % Actualtity

Question Number : 147 Question Id : 5406266780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Acctuality

2. % Actuality



3. % Actuallity
4. ¥ Actualtity

Question Number : 148 Question Id : 5406266781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Talk through one's hat
Options :

1. # Talk good points
2. ¥ Talk nonsense
3. # Talk positively
4. % To talk secretly

Question Number : 148 Question Id : 5406266781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Talk through one's hat
Options :

1. # Talk good points
2. % Talk nonsense
3. #® Talk positively
4. % To talk secretly

Question Number : 149 Question Id : 5406266782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

The lion's share



Options :

1. # Equal parts

2. # The smallest part
3. % The biggest part
4. # Get nothing

Question Number : 149 Question Id : 5406266782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

The lion's share
Options :

1. % Equal parts

2. % The smallest part
3. ¥ The biggest part
4. # Get nothing

Question Number : 150 Question Id : 5406266783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To die in harness

Options :

1. * Die early

2. % Die peacefully

3. ¥ To die while in duty
4. # Die after doing work

Question Number : 150 Question Id : 5406266783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To die in harness

Options :

1. # Die early

2. % Die peacefully

3. ¢ To die while in duty
4. # Die after doing work

Question Number : 151 Question Id : 5406266784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Once in a blue moon
Options :

1. # Frequently

2. % Something interesting
3. # Very common

4. ¥ Very rarely

Question Number : 151 Question Id : 5406266784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Once in a blue moon
Options :

1. # Frequently

2. % Something interesting
3. # Very common

4. ¥ Very rarely



Question Number : 152 Question Id : 5406266785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The person who works for free
Options :

1. ¥ Volunteer

2. % Member

3. % Organiser

4. % Servant

Question Number : 152 Question Id : 5406266785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The person who works for free
Options :

1. ¥ Volunteer

2. % Member

3. ¥ Organiser

4. % Servant

Question Number : 153 Question Id : 5406266786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who speaks less
Options :

1. * Misogynist

2. ¥ Reticent



3. % Hypocrite
4. % Obsolete

Question Number : 153 Question Id : 5406266786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who speaks less
Options :

1. ¥ Misogynist

2. ¥ Reticent

3. # Hypocrite

4. % Obsolete

Question Number : 154 Question Id : 5406266787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who can speak two languages
Options :

1. # Linguistic

2. # Polygamy

3. % Bilateral

4. ¢ Bilingual

Question Number : 154 Question Id : 5406266787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who can speak two languages



Options :

1. # Linguistic
2. # Polygamy
3. # Bilateral

4. ¥ Bilingual

Question Number : 155 Question Id : 5406266788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.

One who talks in sleep
Options :

1. ¥ Somniloquy

2. # Intestate

3. # Gullible

4. % Somnambulist

Question Number : 155 Question Id : 5406266788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who talks in sleep

Options :

1. ¥ Somniloquy

2. # Intestate

3. % Gullible

4. % Somnambulist

Sub-Section Number : 2
Sub-Section Id : 540626322
Question Shuffling Allowed : Yes



Question Id : 5406266789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The beginnings of pharmacy are ancient. When the first person expressed juice from a succulent leaf to apply to a wound, this art was being
practiced. In the Greek legend, Asclepius, the god of the healing art, delegated to Hygieia the duty of compounding his remedies. She was his
apothecary or pharmacist. The physician-priests of Egypt were divided into two classes: those who visited the sick and those who remained in the
temple and prepared remedies for the patients.

In ancient Greece and Rome and during the Middle Ages in Europe, the art of healing recognized a separation between the duties of the physician
and those of the herbalist, who supplied the physician with the raw materials from which to make medicines. The Arabian influence in Europe
during the 8th century AD, however, brought about the practice of separate duties for the pharmacist and physician. The trend toward
specialization was later reinforced by a law enacted by the city council of Bruges in 1683, forbidding physicians to prepare medications for their
patients. In America, Benjamin Franklin took a pivotal step in keeping the two professions separate when he appointed an apothecary to the
Pennsylvania Hospital.

The development of the pharmaceutical industry since World War II led to the discovery and use of new and effective drug substances. It also
changed the role of the pharmacist. The scope for extemporaneous compounding of medicines was much diminished and with it the need for the
manipulative skills that were previously applied by the pharmacist to the preparation of bougies, cachets, pills, plasters, and potions. The
pharmacist continues, however, to fulfill the prescriber’s intentions by providing advice and information; by formulating, storing, and providing
correct dosage forms; and by assuring the efficacy and quality of the dispensed or supplied medicinal product.

Sub questions

Question Number : 156 Question Id : 5406266790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is:
Options :

1. * Pharmacies: From B.C. to 2000’s
2. % Importance of Pharmacy

3. ¥ History Of Pharmacy

4. % Pharmacies in WWII

Question Number : 157 Question Id : 5406266791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the passage, how were physicians divided in ancient Egypt?



Options :

1. #® There was no strict differentiation, the roles of physician and pharmacist overlapped frequently.

2. % One attended to the sick in the temple, while the other prepared the potions and pills.

3. % One visited the sick, while the other remained in the temple and prepared medicine for the patients.

4. ® One cured the sick, while the other handed out already made medicines.

Question Number : 158 Question Id : 5406266792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Greek legend, who was the god of healing?
Options :

1. ® Aphrodite

2. % Zeus

3. # Hygieia

4. ¥ Asclepius

Question Number : 159 Question Id : 5406266793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. % In Britain, Benjamin Franklin took a pivotal step in keeping the two professions separate when he appointed an apothecary to the
Pennsylvania Hospital.

2. # The pharmacist provides advice and information; by formulating, storing, and providing correct dosage forms; and by assuring the efficacy
and quality of the dispensed or supplied medicinal product.

3. # The development of the pharmaceutical industry since World War II led to the discovery and use of new and effective drug substances.

4. #% A law enacted by the city council of Bruges in 1683, forbidding the physicians from preparing medications for their patients.

Question Number : 160 Question Id : 5406266794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “apothecary” is?
Options :



1. #* Doctor
2. % Chemist
3. % Clinic

4. % Sanatorium

Question Id : 5406266789 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The beginnings of pharmacy are ancient. When the first person expressed juice from a succulent leaf to apply to a wound, this art was being
practiced. In the Greek legend, Asclepius, the god of the healing art, delegated to Hygieia the duty of compounding his remedies. She was his
apothecary or pharmacist. The physician-priests of Egypt were divided into two classes: those who visited the sick and those who remained in the
temple and prepared remedies for the patients.

In ancient Greece and Rome and during the Middle Ages in Europe, the art of healing recognized a separation between the duties of the physician
and those of the herbalist, who supplied the physician with the raw materials from which to make medicines. The Arabian influence in Europe
during the 8th century AD, however, brought about the practice of separate duties for the pharmacist and physician. The trend toward
specialization was later reinforced by a law enacted by the city council of Bruges in 1683, forbidding physicians to prepare medications for their
patients. In America, Benjamin Franklin took a pivotal step in keeping the two professions separate when he appointed an apothecary to the
Pennsylvania Hospital.

The development of the pharmaceutical industry since World War II led to the discovery and use of new and effective drug substances. It also
changed the role of the pharmacist. The scope for extemporaneous compounding of medicines was much diminished and with it the need for the
manipulative skills that were previously applied by the pharmacist to the preparation of bougies, cachets, pills, plasters, and potions. The
pharmacist continues, however, to fulfill the prescriber’s intentions by providing advice and information; by formulating, storing, and providing
correct dosage forms; and by assuring the efficacy and quality of the dispensed or supplied medicinal product.

Sub questions

Question Number : 156 Question Id : 5406266790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is:
Options :

1. # Pharmacies: From B.C. to 2000’s
2. % Importance of Pharmacy

3. ¢ History Of Pharmacy

4. # Pharmacies in WWII



Question Number : 157 Question Id : 5406266791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, how were physicians divided in ancient Egypt?

Options :

1. # There was no strict differentiation, the roles of physician and pharmacist overlapped frequently.

2. # One attended to the sick in the temple, while the other prepared the potions and pills.

3. % One visited the sick, while the other remained in the temple and prepared medicine for the patients.

4. % One cured the sick, while the other handed out already made medicines.

Question Number : 158 Question Id : 5406266792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Greek legend, who was the god of healing?
Options :

1. # Aphrodite

2. # Zeus

3. % Hygieia

4. ¥ Asclepius

Question Number : 159 Question Id : 5406266793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following statement is incorrect?
Options :

1. ¥ In Britain, Benjamin Franklin took a pivotal step in keeping the two professions separate when he appointed an apothecary to the
Pennsylvania Hospital.

2. % The pharmacist provides advice and information; by formulating, storing, and providing correct dosage forms; and by assuring the efficacy
and quality of the dispensed or supplied medicinal product.

3. # The development of the pharmaceutical industry since World War II led to the discovery and use of new and effective drug substances.

4. % A law enacted by the city council of Bruges in 1683, forbidding the physicians from preparing medications for their patients.



Question Number : 160 Question Id : 5406266794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “apothecary” is?
Options :

1. # Doctor

2. ¥ Chemist

3. # Clinic

4. % Sanatorium
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5406266795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTQ Trsg o1 TfY fawdg Fifom)

SR
Options :

1. % 3d+ dRUT
2. % 3 +dRU
3. % 3 + dRU
4., % 3 +dRT(

Question Number : 161 Question Id : 5406266795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 71U wreg 1 TfY fode i

S=RUT
Options :

1. % 3d+dRU[
2. % 3+ dRU
3. ¢ 3q + dRU
4, % 3 +dRU[

Question Number : 162 Question Id : 5406266796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Xsg 1 THRI J1d HifoTT|



EELE]

Options :

1. ¢ JqEY AN

2. % 3ot Yig gHTY
3. ® fg U

4. % HUYRY A

Question Number : 162 Question Id : 5406266796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Ysg BT JHN J1d BT

EPRIE!

Options :

1. ¢ TIEY JHY

2. % (gt Yid A
3. % fgrau

4. % HHYRY TATY

Question Number : 163 Question Id : 5406266797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferRad 7 9 fead fau vy &1 Iuah et fovar a8, 1 Sifee|

ATl
Options :

1. % fagmar
2. % deldl
3. % dIdl
4. % Yolldl



Question Number : 163 Question Id : 5406266797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferiRad 7 9 fead fou vy &1 IuanT et fovar man g, 1 il

ATl
Options :

1. # fegrar
2. % deldl
3. ¢ dIdl
4. % Ydlldl

Question Number : 164 Question Id : 5406266798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BR’ Weg (b g IUHT & JgebR HioH" 31 el g2
Options :

1. =9l

2.9 31

3.4

4. % 3ffd

Question Number : 164 Question Id : 5406266798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R g v IUMT T JSHR Hio 37 <l g2
Options :

1. %9l

2.9 31

3.% 1

4. % 3ffd




Question Number : 165 Question Id : 5406266799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 o= O HigaTee U3 T8 82

Options :
1. % 3fTafgdm
2. * Ul
3. % gdd
4, ¢ WRI]

Question Number : 165 Question Id : 5406266799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofifed & @ ®F @ Uiadrae I3 el 82
Options :

1. % STciEgdm

2. % Gl

3. % 9a@

4. ¥ IRI]

Question Number : 166 Question Id : 5406266800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T TTU 91 T Gd1H HT UDHR 1A DHIT|

gg 30 9MT & TR SIET 5
Options :

1. % Yydradh

2. ¢ [ASara®

3. % fAygarad



4, % JfFYgard®

Question Number : 166 Question Id : 5406266800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 7TQ aTRs T aHTH &1 UDHR J1d Dol |

g8 30 AMT & R SBT3
Options :

1. % Jyarda®

2. ¢ [ASara®

3. % [ygd®

4. % JfAygara®

Question Number : 167 Question Id : 5406266801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu Tu a1 # faws Jrd Bifvg|

% 9Y SUNS § |
Options :

1. % dg

2. % 9y

3. ¢ 3UD

4.% g

Question Number : 167 Question Id : 5406266801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7T g # faxs ra S
I8 9Y U ¢



Options :
1. ® dg
2. % 9§
3. ¢ 3UHD

4. % g

Question Number : 168 Question Id : 5406266802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou e a1 | foear 31 wifomg|
g 938 &I gY U@ 3|

Options :

L * S
2. % FHHd
3. ¢ Tt
4. % D

Question Number : 168 Question Id : 5406266802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ e | foham J1d ST
T I5S B gy @

Options :

L. % Hgad

2. % Ghtd
3. ¢ fgtie
4. % D

Question Number : 169 Question Id : 5406266803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fraferfad # @ d=1ef Weq T1d BT
Options :

1. % TRIUGR

2. ® J&hd

3. ¥ B3

4, % JId

Question Number : 169 Question Id : 5406266803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfead & 9 <2 Weg 31 HITE|
Options :

1. % RITHR

2. % U&pq

3. ¥ ddA

4. % gga

Question Number : 170 Question Id : 5406266804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Wsg 1 yaigar I1d S|
U

Options :
1.¥ Ju
2. % qgf

3. % THIl
4, % dUc

Question Number : 170 Question Id : 5406266804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3T TN Teg 1 UTTgaT= Jd SifeT|
LSS

Options :
1. ¥ U
2. % o
3. % TgHl
4. % qUc

Question Number : 171 Question Id : 5406266805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Toc; 1 faciiH Wee 1A BT

Nl
Options :
1. ¢ ddd
2. % MY
3. % 2w
4. % f=i

Question Number : 171 Question Id : 5406266805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T Tsg o1 faT Wsg J1d P
i

Options :
1. ¥ dd
2. % 3=fy



3. % Tl
4. # f=fif

Question Number : 172 Question Id : 5406266806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 g ad- &1 994 Sifod|
Options :

1. % 3f=igR™

2. ¢ IR

3. % 3fqexiiy

4. % 3f<Iqeig

Question Number : 172 Question Id : 5406266806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & 9 g ad- &1 99+ Sifr|
Options :

1. % 3f=<igey

2. ¢ IR

3. % SideRifa

4. % 3f<Iqeig

Question Number : 173 Question Id : 5406266807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U areaiy & fore I e &1 T g
TS 9 Al & 3 & JAM &l

Options :

1. % g




2. % Oodray
3. « Hireft
4. % SFHHA

Question Number : 173 Question Id : 5406266807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu areie & forw IfId 2ee &1 T B
o A7 ASelt & 31 b GHM B

Options :

1. % g
2. % UFqag
3. ¢ et
4, %

Question Number : 174 Question Id : 5406266808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T Tsg T AW Wee 1A BT
IhY

Options :

1. ¥ 3OHY
2. % DY
3. % 3H

4. % fqRIUA

Question Number : 174 Question Id : 5406266808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77U Wrec; &1 faeliv Wsg T BIFTT



IHY
Options :

1. ¢ 3By
2. % 3PHY
3. % 3
4. % fqRITUT

Question Number : 175 Question Id : 5406266809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu 7Tu g B e =i @t ofd St
SR P gl $S AN IRI B H g Ugdd 6|

Options :
1. & ol
2. % SAWR
3. % 9dmd
4, % 9un

Question Number : 175 Question Id : 5406266809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U are & Rad ®IM &1 i Siforg
R P I8 $B AN gl A Ve Ugad |

Options :
1. & ol
2. ® 3AVR
3. % qmd
4. % 9ur




Question Number : 176 Question Id : 5406266810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed § @ H1F 91 e g TE TR 82
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. §<-gd = 58-S o
2. Y- = RIGRIINT

3. HAF-PAd = SUBR A IA-3YHR - - arell
4. SITSl-9ldIG, = HHA-gal

Question Number : 176 Question Id : 5406266810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o @ & a1 Weg T Te! T8 37
Note: For this question, discrepancy i1s found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 9¢-9d = YHg-Sod
2. ATY- = RISGRIINT

3. HAY-HAH = SUBR A AIAl-3UBR = T aTell
4. SIQISI-STelq = pHdA-gdl

Question Number : 177 Question Id : 5406266811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S



Addl  TMdgl
Options :

1. ¢ 3{[HPR

2. % P

3. % PR

4, % AP

Question Number : 177 Question Id : 5406266811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw Tu are 7 Rad wH o1 g S
S BT Mgl

Options :
1. ¥ 3{[HdR
2. % P
3. % PR
4, % AP

Question Number : 178 Question Id : 5406266812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifad # & & 91 e gfed 761 32
Options :

1. % 9D

2. % SRT

3. % giud

4. ¥ qld

Question Number : 178 Question Id : 5406266812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafed & @ ®1F 91 Wsg gfcaT et 82
Options :

1. # JHD

2. % SRT

3. % diud

4. ¢ QI

Question Number : 179 Question Id : 5406266813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed # 3 thaeH @ 9gae s & [T & I T 6t Tl g
Options :

1. # Ulddh = U[SHhITU]

2. ¢ SfUBRY - HYBIRGT

3. % ot - el

4. % IR - IRIdg

Question Number : 179 Question Id : 5406266813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 tdhde I Sgae a9 & o S A1 Y9 el 9l s
Options :

1. # Ulddh = UISHhITl

2. ¢ JHYBRI - DIl

3. % Wit - gt

4. % 9R - 9ARIdq

Question Number : 180 Question Id : 5406266814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiyd o 9 < o Id S|
Options :

1. % g3 UPh §gd & SUINT TRA 5|

2. % gg 1id &I 3l-9IR afear Tl g

3. ¢ Wifiecd SR Sfia &1 3ffiF e g

4, % Hg IAd b HHAIR! B} TRUER] §a?

Question Number : 180 Question Id : 5406266814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 Y areg Id S|
Options :

1. % §g& U 9gd ol SUUNT I g |

2. % 98 Td &I §1-9R arSal M ]

3. ¥ WIfgd 3R Siad &1 31 dee g

4. % H3 YA b HHAMN! B} TRUEIR] §3?
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Hindi Language & Comprehension2



Section Id : 540626280

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626324
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5406266815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 BT BT F1d B
gfe guf gidl df THT R BId U S|

Options :

1. % iy Ydbral

2. % Ul YdehTa

3. % AU Ya&bTa
4. ¥ 8 8 Ha HdbTel

Question Number : 181 Question Id : 5406266815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T are o1 Tt 1 BT

gfe aui gdl d 9T W B U SIdl |

Options :
1. % i Ydbral
2. % 3qul YdPbTd



3. % AR YfobTel
4. ¢ 84 84 HG YdbTd

Question Number : 182 Question Id : 5406266816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fu 7 areg & 4T fhd W &1 331870 §, F1d BT |

YT §gd Srad |
Options :

1. % 3dH

2. % HYH

3.¢ 3

4. % YUYy

Question Number : 182 Question Id : 5406266816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faQ TTQ arerR H 4T b e U 1 IQTERUT B, T BT

YT ggd S gl
Options :

1. % 3dH

2. % HYH

3.¢ 3

4. % YUYy

Question Number : 183 Question Id : 5406266817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T arerRr 1 Ugf 1 BT



GINECEEE
Options :

1.« Mgy

2. % qId dIU® ggf
3. % 3qUi U&

4. % fRITHD U8

Question Number : 183 Question Id : 5406266817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T aTerRr 1 &l 31 BT |

IR T9Hd g
Options :

1.« gy

2. % qId dIYU® ggf
3. % 3quf Ugf

4. % fRITHS T8

Question Number : 184 Question Id : 5406266818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ o a1 Figards gia &1 e g2
Options :

1. % TR 3 dP HUS & ST

2. ¢ T S faepd g el |

3. % i g0 99T W Uad dl UM 81 SIid |

4. % I8 GHT S 9Dl 5|

Question Number : 184 Question Id : 5406266818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o a1 e gho o1 e g?
Options :

1. % TR 3 db HUS & STl

2. ¢ TR TSI foepd et firaft

3. % gfq qH 99 W Ugd dl U 81 STd |
4. % 98 I ST GHd1 g |

Question Number : 185 Question Id : 5406266819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 1Ry 1 9= T BT
HTGT 3 Uell Y A=

Options :

1. % HIqdrg
2. ¢ Hgard
3. % HHarA
4. % R YA

Question Number : 185 Question Id : 5406266819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 77U 916 1 aT=T J1d Pt |

HTaAT = avelf o) i)
Options :

1. % Ygdreg

2. ¢ Hqar

3. % U

4. % HAR YA



Question Number : 186 Question Id : 5406266820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiyd & @ ®1F 91 a9 Ygad a1 1 I3TER0T 82
Options :

|. ¢ TS SR YT SHIAT I8 SRSl TR

2. % S A Y1 g3 3G Wi |

3. % TR 1Y SR gHA Il |

4. % I AT S B F1d U AT & SIS TS|

Question Number : 186 Question Id : 5406266820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad # & 19 I1 aTeg Tged e BT ITeR01 82
Options :

1. ¢ TSP AR YT ST 98 STdrd 47|

2. % S - YT g3 3Heg @i |

3. % TR G PRI gH Tall |

4. % I U SR o1 91 39+ TS & §1E TS|

Question Number : 187 Question Id : 5406266821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl § 9, 39 faded o1 9o 3 1t {3 7T geTer & 31 &1 a9y U ¥ oJad HRal g |
ool a7 faamT

Options :

1. % ST g S
2. % HGHId BT

3. ¢ URIHA S




4. % gooft UST HAT

Question Number : 187 Question Id : 5406266821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR fawedt & ¥, 39 fawen &1 7997 & 57 fou U geTak & 31 o) Id9% U § ogad Rl g |
ool a1 fgamT

Options :

1. ® SR g T
2. % YU HAT

3. ¢ A ST

. a2
4, % godll Yl hRI

Question Number : 188 Question Id : 5406266822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 5 9, 39 fawed &1 99 o3 Sl faU 0 GgTak & i &1 Ja9§ ¥ ¥ ad Rl g
R T U ORI

Options :

1. % TR U H |H DAl

2. ¢ Tt B BT YDA BT
3. % U o & ST

4. % §gd 3D g g

Question Number : 188 Question Id : 5406266822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ¥, fau U IR fawedt & ¥, 39 fawen &1 7997 &3 S fou U geTak & 31 ol Id9% U § ogad Rl g |
RR Ut TR ST




Options :

1. % g UM H A HRAl

2. ¢ frdt Bl Bt AU BT
3. % UM O d ST

4. % §gd P g g

Question Number : 189 Question Id : 5406266823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 718 weTad &1 3 F1d BT |
o1 g7t & @ 3¢ # ¢ FHAT
Options :

1. % 301 HTH WY fSTs-T

2. ¢ faTIaTd =T

3. % gie U &¢ B Tl

4. % JUHR B ATl BT TG §HT

Question Number : 189 Question Id : 5406266823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 1S Perad 1 3 J1d BT
5 g7 A @ S A 9¢ A
Options :

1. % 30T H1H Y farmes-r

2. ¢ fayryard BT

3. % g8l 4 &g Hdb WM

4. % JUBR B ATl BT W 1

Question Number : 190 Question Id : 5406266824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu U 1o # T formA fagl &1 IuaiT foan S, 3esT 994 Siforg|
3R I8 I TS

Options :
1.¥ 1 |
2. % |1
3.% 1,2
4. % 2,1

Question Number : 190 Question Id : 5406266824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T a19 # o fav™ gl o1 STt fosar Seen, 3961 Ia- S|
3R I8 Tl T8

Options :
1.v¥ 1 |
2.% |,

3.% 1,7

4. % 72,1

Question Number : 191 Question Id : 5406266825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U foRmH fag & IR &1 uga™ SifvE|

o

Options :

1. % DIFD

2. % ¢lUqd

3. % 3fcgfoRT™



4. % IR

Question Number : 191 Question Id : 5406266825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U foRmH fag & IR &1 ugaH SIfvT|

o

Options :

1. % PIgD

2. % ddd

3. % 3fcgfaR™
4. % I

Question Number : 192 Question Id : 5406266826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a19 # {5y fav™ ”Ig &1 SUaT foar SIe, S9! 99 Sl |

2! ga8-Ya8 qH Hel 9d 1qU
Options :

1. ¢ UYdldh

2. % Ood g

3. % DIYH

4. % guffaR™

Question Number : 192 Question Id : 5406266826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu ¢ gt | Ty foxe g &1 SuaiT fovan Smem, S9&T 99+ Sifve|

2! Yo8-ga8 qH Hel 9d faU




Options :

1. ¢ UHddD
2. % o fog
3. % DIYD

4. % QUfGR™

Question Number : 193 Question Id : 5406266827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed &1 9o 3 o1t {3 7T geTer & 3 &1 Jd9§ U ¥ oJad SRl o |

JHS! 9T IR gHa! 7 9l
Options :

1. % HOR HH Bl

2. §gd Hod gl

3. % ol TR H @A
4. % Y DI TS THIAT

Question Number : 193 Question Id : 5406266827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 6 9, 39 fawed &1 999 o S faU 0 GgTak & 3 &1 a98 T 4 ad Rl 5|
TAS! ST R THS 7 o™

Options :

1. % DHAR YT BT

2. ¥ §gd o™ sl

3. % ol TRId § g
4. % Y I GHHA

Question Number : 194 Question Id : 5406266828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f3U T Trsal & g & e Ifad didifed &1 ag4 S|

& U o 8
Options :

1. % QI HOIA

2. ¥ @ & i UTd
3. % QYT IS TYT IS

4. % AN TH AT A

Question Number : 194 Question Id : 5406266828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec & G & forw I i b1 = v

T U oIl el
Options :

1. % S A U

2. ¢ Eb & o UTd
3. % YT TUT Yl

4. % JAUD T ST

Question Number : 195 Question Id : 5406266829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T Trsal & g & e Ifad didifed &1 ag4 S|
3=f 0 o @

Options :

1. % 3 HfGqgl I 1 3371
2. % 3 SME A B

3. ¥ PUSY Y I Y Bict o |




4. % P UNTEIAT W@ § |

Question Number : 195 Question Id : 5406266829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trsal & wE & fore I Aeifad o1 9g9 Sifv|
3 4 W

Options :

1. % 3¢ Afqqal ¥ Ay I
2. % Y BB B

3. ¢ PUSY Y I¥ Y Gic o |
4. % P T g WA &

Sub-Section Number : 2
Sub-Section Id : 540626325
Question Shuffling Allowed : Yes

Question Id : 5406266830 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

RIS 1 YD Ug 3R U 7T Ul & S<R S |

9gd Uga Xg I St 3 FeT T, IR R g8 &1 4y 9 AR 8197 | g & faiTe ¥ qd g1 39 ¥ T fAdhIa o 399 81 7RI gfar g;
Fifch ST [AT8H TR Al IUH Y ARG Hb1a- &1 T THHH Wlad BT YT gRT 3o H W7 dig &l fiedhr 39 &I & 3R
¥ 1 P ST Bal T8 8| SUP 381 8 WR 98 ¢ Uehdl g; fhd AR 3f3d &Y U el R Tobal iR R 918 & uzam I gid1 g1 &
8 BHR YT ¥ IIHM Hd B! UTel 1ol B2 adhd, fOR g6 IUH 31a=adh JUR B o UG AT T4 We & 1Y A1 §HRT acd=
i et 81 331 & Jd Fraur 81 59 feddl 4 < I &1 S-aH IUrd & | fekd 3R AP # 4 3R FAfY &1 H1d [fgd 81 Sl a1 iy &
fere fda &, RigTdd: & foTT urdes & S, W1 s (aH 61 8 | GHA WX 81 B1 I Bl SUIeddl W81 ik Td sila § Sfid Hgeayuf
g, I8 AP S & forg +ff 3T Shifer Td A Srifer & 50 S § fob Y &1 sas oMY A §Hd & SIaR Hriff-ad Tel gl o
A PrateR H 9 e 81 STl 3 1 ofch: 3 FHT Arerred &1 3 Fut PR BT & THY B IR R U, THY Bt JuTeHd I P H
T@ﬁ@%ﬁm%wél 3{TaTd YR o A | Sl Afad IHT TR aia- | 91 G- § 90 781 98 arad & 0@ g 91 erifa sy 8k
3B g

Sub questions




Question Number : 196 Question Id : 5406266831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T4 Wrec] & THE I T AU §, T1d DI
Rfge, [oTR gu &1 99 7 graH 810

Options :

1. ¢ Y P TRIE 811 I Ugd R 1 1 AR T
2. % QY WRIE g4 b dI¢ Hag ST AT

3. % QU T Y A -Tg! & Fahd |

4. % RS gy A Ad faa gl

Question Number : 197 Question Id : 5406266832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<181 TH B TR T gl 8

Options :

1. % ARG & AT 6|

2. ¢ 30 UG P PR & Hebdl 6|
3. % gg g Ol

4. % THY BIYAD I & |

Question Number : 198 Question Id : 5406266833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Y B 31 TISHTT eitfd T a1 o UTel?
Options :

1. ¥ Hif 98 I R gUf g1 eiel|

2. % Hifos 98 YFTIR Y UK gl & |

3. % FifP a8 APIRT 751 Biell & |

4. % i AP & Uy U T 5



Question Number : 199 Question Id : 5406266834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 11 U &1 3=y Wy Sifv|

TYTATT J FIHT Yd B! TTe el B qbdl

Options :

1. % 98 Had WwH B qe |

2. ¢ GYTATY R 9 ST g3 G0 Dl 9109 g1 317l |
3. % YT B I 3714 drell 99 HUt 3151 gl gl
4. % QYT I I SO I 9§ P o |

Question Number : 200 Question Id : 5406266835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUged TR H1 ¥ J1d Hiforg|

Options :

1. ¢ 31 USdIU gid &1 99 fafSal 91 T8 Wd
2. % UYIdIY bl ol

3. % AP oY

4. % JQH T DI YU

Question Id : 5406266830 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

TR 1 YD Ug 3R U 7T U8l & STR ¢ |

9gd U8 Xg 1 St o HeT T, XM R g8 &1 HY 9 AR 8197 | g & faiTe- ¥ Ud g1 S9H ¥ Ha fAdhIa o 394 8 AR Jlardl &;
Hifh TP T8 IRl ITH | AaeH fAPbTa- &1 YA THHH Wfdd &1 30 gRT $iieh # i1 iR &1 dleah 39 = & SR

F ¢ B S0 Bal Ts ¢ | SUP 381 8 WR 98 ¢ Udhdl g; fhd AR 3fdd TU U el o Tebdl 3R R 918 # Usam I gid1 g1 &1
22 AR UYTAY § IdHM Yd B! U Tal R b, oY 80 IUH HI0d YUR R b UG AT U8 WS o 1Y 1Y §HART gad=
i il 81 331 & Ud WIaeT g1 59 fadar 9 9 X6 &1 S-IaH IUM & | fad SR P H Ay 3R FAMP &1 4id [fgd 81 & 91d A &




fere fe e &, RIGIcid: & foTT uldes & ST, THI s g 781 § | THY UR 81 BT b b1 JUIGU] W51 SHfekivId Siia | 3redd Hgeayqul
g, 961 AP Sita & forg Wi IueT Sl Ud Fe SrifeT § §H & & [0 Y BT 31 1oL Ufe T & SIER PTAT-ad 7o sidl o
Ol IR # d e g1 S 81 31d: 9 gt drerrsft 1 31w APt Sl o T9d &1 IR HRd §U, T DI IuTedd i efP o
T@ﬁgqgrm%m%l 3T TR & [ § S safad 00 W aa & a1 g & 90 61 98 ardd § g 9 aftR Srfa srqaef iR
A B

Sub questions

Question Number : 196 Question Id : 5406266831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7TQ Trsal & THE § T VT ], 1d Bifod|
g0, foTR g4 &1 7Y 4 AR g1

Options :

1. ¥ QY & TRIE g4 I Ugel T &1 o1 =g q|
2. % TYTRE BIF & d1c HRIA ST M5 T|

3. % YT Y gRA -Tg! o G|

4. % IS gy fa AY o €

Question Number : 197 Question Id : 5406266832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QR TH & R T g1l 82
Options :

1. % HRGT T ST 5|

2. ¢ T UG BT MMHR ¢ IHhd 8 |
3. % Gg g O gl

4. % IYYBIYP THhd g

Question Number : 198 Question Id : 5406266833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9 91 DT Wreltegg 7l T @ ey



Options :

1. ¢ I 98 JHY TR gUf 8] gii|
2. % Fifh 98 YRR I Ud gldl g
3. % FifP a8 APIHRT 51 Biell & |
4. % S Y & U T T B

Question Number : 199 Question Id : 5406266834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 1S tfad 1 SR Wy S|

TYTATY ¥ GTA Hd Pl TE Tt B Tl

Options :

1. % g Had gH HIaeT gl

2. ¥ YTATY R I d1d1 g3 J0d ol 910 g1 311l
3. % GYTATT A Y 37 arell 999 S 31371 781 gidl|
4. % TYTATY HRA Y S M I P A1 8|

Question Number : 200 Question Id : 5406266835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR T =fies 1 ifor|
Options :

1. ¢ 3§ USAN gd o1 o9 fIfeal 9 7Ts 9d
2. % UYTAY &1 HA

3. % PG AT

4. % IZH T B HYT



